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Monday, November 17, 2014
--- On commencing at 11:06 a.m.

MS. HELT:  Good morning, everyone.


Just to reiterate, my name is Maureen Helt.  I am counsel with the Board, and we are currently sitting for the purpose of the technical conference in Toronto Hydro's custom IR application, EB file number 2014-0116.


As noted by the panel previously when we commenced the evidence conference, this application was filed on July 31st, 2014 under section 78 of the act for an order approving rates for a five-year period effective May 1st, 2015.


The notice of application was filed on August 29th, 2014.


There was an information (sic) held this morning, during which Toronto Hydro provided an overview of its application to the Panel presiding over this matter.  Some of the Panel members had an opportunity to ask questions of the panel that made the presentation.


During this technical conference there may be questions that arise on the part of intervenors with respect to that presentation.  I think in terms of being most efficient we should proceed with the witness panels as presented by Toronto Hydro and the witnesses available with respect to each witness panel.  And if there are questions that deal with the presentation, that the intervenors and Board Staff direct those questions with respect to the specific panels and the subject matter to which those questions relate, if that makes sense to all of the parties.  I think that's probably the best way to deal with this.


Interrogatories have been filed with respect to this proceeding, and interrogatory responses have been filed in accordance with the dates ordered by the Board in Procedural Order No. 1.


Today's technical conference was also ordered by Procedural Order No. 1.  As everyone is aware, we have two days scheduled for this technical conference and a third day if necessary.  So those days are today, tomorrow, and Wednesday if necessary.


In accordance with the Procedural Order No. 2, undertakings from the technical conference are required to be filed with the Board and copied to all parties by November the 24th, 2014.


I'd just like to note for the record that certain corrected evidence was filed by Toronto Hydro on November the 14th, 2014.  This evidence consisted of correction to Toronto Hydro's pre-filed evidence on November 23rd, 2014.  Specifically, the corrections relate to Exhibit 3A, tab 2, schedule 1, pages 1 and 4; Exhibit 3A, tab 2, schedule 2; and Exhibit 4A, tab 4, schedule 2.


Along with these corrections, Toronto Hydro prepared a table describing the original evidence, each revision to the evidence, and if the change was numerical the difference between the original evidence and the revision.


Toronto Hydro also made a request for confidentiality of the business plan, which was a response to IR 1A CCC 1.  I note for the record with respect to the business plan Toronto Hydro requested confidentiality over the entire document.  The School Energy Coalition filed a letter with respect to that request and reminded Toronto Hydro of certain aspects of the Board's practice direction on confidentiality filings, which requires a party to request confidentiality only for those aspects of the document that are truly confidential; in essence, not requiring a blanket confidentiality over the entire document.


This is the Board's practice direction, and I would agree with the submission or the letter of the School Energy Coalition with respect to that request.


The Board will consider both correspondence from Toronto Hydro and the School Energy Coalition in that regard and make a determination with respect to confidentiality.


I also note for the record there were four other confidentiality requests made by Toronto Hydro in its application.  The Board has yet to issue a decision on confidentiality.  As such, for the purpose of today's technical conference I would ask that if there are questions with respect to any of those documents for which confidentiality is sought, we try to deal with those questions in a manner so that we do not have to go in and out of camera on several occasions.


So what I would suggest is that we deal with those questions perhaps at the end of the technical conference or, if it's more efficient, at the end of each witness panel with respect to that.


I think there will have to be some flexibility, and we can just deal with those issues as they arise, if everyone is agreeable to that.


Just a few other notes.  I remind all parties that this is a technical conference and as such it is being transcribed.  You will also note that we are on-air.  If there are any parties who have other individuals who may wish to listen to this technical conference, they can do so by accessing our website and connecting into the technical conference.


As this matter is being -- or as this technical conference is being transcribed, I would ask everyone to please speak clearly into your microphone.  I believe everyone is aware of how to turn the microphones on and off.  You will note that there is a button in front of your microphone.  When the green light is on, it indicates your microphone is on.


There are sometimes issues that arise because the microphones are operating in tandem.  In other words, the person next to you may push the button off, and that means your microphone is off.  But if you are not being heard, I'm sure the court reporter will ask you to turn your microphone on.


I also remind parties that we do not have an adjudicative panel here today for the purpose of this technical conference.  If any disputes arise I would ask that parties make every attempt to resolve them, and if that's not possible we will just have to seek guidance from the panel in the usual course.


There will be an opportunity for undertakings to be given, and if there are refusals, again, those will be noted in the technical conference and the panel will deal with those in due course.


I don't think it's necessary to deal with appearances, as we've already had appearances this morning for the purpose of the evidence conference, and everybody that was present this morning is also present today, so -- oh, except for David McIntosh, who I note is now present for the technical conference.


So if there are any preliminary matters that anyone wishes to raise at this time -- I see, Mr. Keizer, you're reaching for your microphone?


MR. KEIZER:  Thank you, Ms. Helt.  Yeah, I am, actually, with respect to, I think, one comment you made on scheduling, and I just wanted to go back and clarify that.  You had indicated that the dates for the technical conference are today, tomorrow, and then you said to the extent required there'd be a third day, but as I recall from the Procedural Order No. 1, the Board only set aside the two days, which was the expectation of Toronto Hydro that this would be two days, of today and if necessary tomorrow.


MS. HELT:  You are quite correct on that, Mr. Keizer, and I thank you for that correction.  The procedural order does set out the two days.


All right.  Thank you.  There is no third day.  That was my mistake then.


Mr. Rubenstein?


MR. RUBENSTEIN:  So there is no third day?

MS. HELT:  Oh.  A date has been set aside if it is necessary, in terms of having the hearing room scheduled.

MR. KEIZER:  As of yet we're not aware of what that date is, and so we hope that we would be able to get this done today and tomorrow.

MS. HELT:  That date is Wednesday of this week.

MR. KEIZER:  But there is no -- with what, an order to come, or is it --


MS. HELT:  What happens quite frequently with respect to these technical conferences, we hope to have it done in two days, and if not then we can ask the parties for their availability.  If everyone is available on Wednesday we will proceed on Wednesday.  If that's not the case then we will have to find an alternative date.

MR. KEIZER:  Well, our expectation is two days, so let's hope that we can get it done in two days, and we are --


MS. HELT:  That's the plan.

MR. KEIZER:  That's our plan.

MS. HELT:  Yes.


Is there anything further from any of the parties?  All right.  Then we can start with the first witness panel, then, Mr. Keizer?


MR. KEIZER:  So actually before we introduce the witness panel, just to follow up on the questions relating to the presentation, so as everyone is aware this morning, Mr. Walker and Ms. Klein and Mr. Ruch appeared and did the presentation.


So to the extent, I guess, Mr. Walker, within that presentation, spoke to capital and the aspects of capital, so if there are elements of the presentation that related to that, to capital, that people wanted to put to Mr. Walker on this panel, this is an opportunity to do so.


The other elements of the presentation that were given by Mr. Ruch and Ms. Klein, they are going to be appearing on the fourth panel.  So to the extent that you have questions relating to those aspects of the presentation, that would be the appropriate time to do that with those witnesses at that time.


The other element I just wanted to clarify, there was a document circulated called "Toronto Hydro 2015-19 custom IR application, technical conference witness panels."  And that in one column talked about area of responsibility, and then in the other column was for panel members.


We just wanted to make sure that it was very clear that even though things are appearing in rows and columns in that, the areas of responsibility is the responsibility of the panel as a whole, and that you shouldn't go from one line and follow it across and think that that person is only dealing with that exhibit.  The areas of responsibility identified in that table was for the panel as a whole, not particular people related to particular exhibits.


So we just wanted to make sure that that was not causing any confusion.


I believe that is the preliminary matters from Toronto Hydro.  And so if we can then proceed by introducing the panel, and maybe the most efficient course of action is to ask each witness to introduce their name and their position at Toronto Hydro, starting with Mr. Walker at the far end of the panel.
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Mike Walker


Jack Simpson


Guillaume Paradis


Rob Otal


Angela Rouse


MR. WALKER:  I'm Mike Walker, and I am the general manager of engineering and investment planning at Toronto Hydro.


MR. SIMPSON:  Jack Simpson, director of generation and capacity planning with Toronto Hydro.


MR. PARADIS:  Guillaume Paradis, manager of system planning with Toronto Hydro.


MR. OTAL:  Rob Otal, supervisor of strategic analytics with Toronto Hydro.


MS. ROUSE:  Angela Rouse, supervisor, capital planning and reporting.


MR. KEIZER:  Thank you, panel.  With that, the panel is available for technical conference questions.


MS. HELT:  Thank you, Mr. Keizer.  I understand that Mr. Brett is prepared to go first with his questions.

Questions by Mr. Brett:

MR. BRETT:  Yes, that's right.  Thank you.  Morning, panel.


My first question, Mr. Walker, is for you.  I wanted to follow up on a comment that you made during your presentation.  And this issue is also captured in BOMA No. 16.  It has to do with your comment on drivers.


And you say in your presentation here:

"The trigger driver indicates the primary reason that a particular program must be carried out.  However, in some cases secondary drivers may be as or even more important than the trigger driver."

Should be -- it's BOMA 16 is the number, is the reference, if somebody could turn up BOMA 16.  I have BOMA 1 here now.  In any event, let's just proceed.


MS. HELT:  Mr. Brett, if you could just wait for a moment, we do have someone who is going to be pulling up the documents as we refer to them.  So if there is an ability to bring up BOMA 16, that would be helpful.


MR. KEIZER:  Sorry, I guess the best-laid plans... A little technical difficulty, apparently.  It's not in the computer file.  In the computer file we have for BOMA 16, which includes the interrogatories, BOMA 16 doesn't seem to be in it.  So just give us one moment.


MS. HELT:  Sure.


MR. BRETT:  That's fine.


MR. KEIZER:  I believe we do have it.


MR. BRETT:  We have it now?  Okay.


The question I had begun with was the difference between safety and reliability as a primary and secondary driver.  What I wanted to focus on in this question is you gave an example -- the Board, as I understand it, laid out the fact that they wanted to get what was the driver for each of these initiatives.


And you said in your comments in the presentation that:

"The trigger driver indicates the primary reason that a particular program must be carried out.  However, in some cases secondary drivers may be as or even more important than the trigger driver."

Would you agree with me -- I mean, the -- I don't fully understand this in the sense that the trigger driver, I take it, is what determines that the program in question must be done now, as opposed to waiting.


I say that because, to give you a bit of context, safety and reliability are present in almost everything you do.  In fact, you told me in the answer to BOMA 16 that the safety driver relates to 32 programs, which constitutes approximately 71 percent of the 45 capital investment programs.


Similarly, the reliability driver relates to 23 programs, which constitutes 51 percent.


So you have these umbrella concepts, these umbrella factors like safety and reliability, but what I think the driver is trying to get at is what is the precise -- what is the primary factor that's driving to you do this now, and is that correct?


MR. WALKER:  The trigger driver, as we treat it, is the issue that initiates the need for the work.


MR. BRETT:  Right.


MR. WALKER:  So something occurs, which prompts us to need to do some kind of work on our system.  It may not be the most important element to that.


The example I used was a catastrophic failure.  If the catastrophic failure does not occur, there is no safety issue.  But when that catastrophic failure occurs, there may be a safety issue.  And that might be more important than the trigger.


MR. BRETT:  I understand.  That's a rather exceptional example.  I mean, in your answer to BOMA 16, you say, for example, a program's trigger might be functional obsolescence.


And that is what you describe as the reason for doing this now, because the technology is functionally, as I understand it -- I read that to say the technology is obsolete.  You're not going to be able to get spare parts. It's going to be very difficult to operate going forward with this, so you change it.


Now, in changing it, you may also improve safety.  Presumably everything you do improves safety, or almost everything, in terms of renewing assets.  Isn't that the case?  In other words, everything else being equal, a newer asset is safer than an older asset?


MR. WALKER:  I'd say that's probably reasonable.


MR. BRETT:  And probably the same with reliability?


MR. WALKER:  Yes.


MR. BRETT:  What I'm trying to ensure here that when we look at these items, these investments, we've got some clear -- clear distinctions on what is triggering them, because otherwise you can come in and say:  Oh, well, they're all safety and reliability.  And that's always the most important thing, but that's not the way the Board framed their drivers section.


So that you need to -- in other words, to say that the resulting safety or reliability issues may ultimately be the most pressing reason for Toronto to proceed with that program, as you do in the answer to this question, I have a problem with that.  That isn't the most pressing -- as I see it, the most pressing is -- and I want to understand just what you mean by this.  The most pressing reason is the trigger, is the obsolescence.  As a consequence collaterally you'll improve on safety and reliability.  Is that not fair?

MR. WALKER:  No, I don't think I would characterize it that way.  The most pressing need may not be the trigger driver.  The trigger driver, as I said, is what initiates the issue that we're trying to address with the program, is what starts it off.  You may have a failure of an asset that is not safety-related.  That can happen, and in those cases safety is not a secondary consideration.

But in the case of something catastrophic in my example, safety becomes more important -- there would be no safety issue without the trigger occurring, but once that occurs safety becomes the significant issue in that example.

MR. BRETT:  Okay.  I think perhaps I'll move on, and I think that -- let me go on to the next one.  I'm going to sort of sort these as I go along, because I had initially thought that these questions were to be put directly to the presenter's panel, and so some of them don't apply to this panel.  So I'll have to sort of sort these out.

Okay.  This is -- I don't know whether this is the panel for this or another panel, but this is BOMA 13(b).  If you turn up 13(b), please.  And I had asked here, what is the trade-off between capital and OM&A requests displayed in this application, and -- under (b), and the answer under (b) in the middle sentence is:

"There is no implicit trade-off between capital and OM&A across the application as a whole.  However, some OM&A programs may be slightly affected by capital spending, as outlined in the response to interrogatory 2B-EP-24."

So at a general level, Mr. Walker, you're planning to spend about two-and-a-half billion dollars over the next five years on capital, and as I understand other parts of your evidence, you wish to continue spending capital at the rate of $500 million until 2037.  That adds up in my mind to about $12 billion.

Now, with respect to the five-year proposal for a moment, two-and-a-half billion dollars, you're saying here that there is no implicit trade-off between capital and OM&A.  Some OM&A programs may be slightly affected.  Are you saying that you don't expect any significant material savings in OM&A as a result of spending two-and-a-half billion dollars over the next five years?  Or do you -- have I read that properly?

MR. WALKER:  First of all, when you think of our OM&A expenses related to assets, we're really talking about our maintenance program, so we have four maintenance programs.  We have preventative maintenance, predictive maintenance, and then corrective and emergency.

Any assets that we have installed in our system, whether they are new or old, have a need to be maintained, and that's where our preventive and predictive programs are in place.  We would have the same maintenance cycle on an asset, whether it's brand-new or whether it's been there for a number of years.  There may be slight changes if a new technology that we put in with a new asset requires a different maintenance cycle, so that's why we were talking about the possibility of slight improvement.

But if you think about the corrective or the emergency elements, eventually in -- you know, if we had our system brand-new or much newer than it is today, we would expect to see lower expenditures there.  But given the preponderance of assets that are already past end of life, we don't anticipate a huge change in those categories until we get ahead of that backlog of assets.

MR. BRETT:  And how long do you think it will take you to get ahead of that backlog, from the point of view of being able to see notable reductions in maintenance expenditures related to your assets, whether they be conductors, stations, transformers, whatever type of asset we're talking about?

MR. PARADIS:  I think there's two parts to that answer.  First, the exact maintenance savings that we will be able to benefit from over time will be quantified through some of the metrics that we've tabled and discussed earlier today.

And additionally, the benefits will be assessed over time as part of our maintenance planning activities.  So it's something that would be done an annual basis, and as we proceed with our replacement activities we would annually review the system needs from a maintenance standpoint, and we would be at that point able to quantify the exact benefits.

MR. BRETT:  Is this a question I should be asking in addition to the fourth panel, or the O&M panel?  I mean, maintenance is part of O&M, and...

MR. KEIZER:  No, I think this actually -- this panel can deal with capital maintenance issues.

MR. BRETT:  All right.  Okay.  Would you agree with me that the -- well, is it not the case generally that as an asset ages, whether it's a station, a transformer, conductors, overhead or underground, does your maintenance -- does your maintenance not increase -- do your total maintenance dollars not increase?  Or are you saying that you spend exactly the same number of maintenance dollars, dollar for dollar, whether your asset in question is at the end of its useful life or a year before the end of its useful life, or whether it's brand-new, the first year of its life?

MR. PARADIS:  That will generally vary depending on the asset type and the degradation factors that impact an asset.  Some of our maintenance programs are set on a cycle basis, and depending on the condition information that we obtain through our maintenance activities, we may choose to increase -- or increase the frequency of our inspection of that asset.  That would be done on a case-by-case basis depending on conditions.  So I can't say that it's generally the case that costs would increase over time.

MR. BRETT:  Can you give me some examples of assets for which costs increase over time?

MR. KEIZER:  Just while the panel is -- Mr. Brett, the -- just so you're aware, on specific elements of the maintenance program -- and I may have spoken in error with respect to preventative maintenance and other aspects -- that is covered in panel 3.  And there is a witness there with respect to it that will speak to it.  This panel I think goes to the distribution system plan and the interplay between the capital and the maintenance within the context of that plan.  Just so you're aware.

MR. BRETT:  Okay.  So anyway, can you give me some examples of assets, categories of assets, which the maintenance expenditures for which tend to increase as time goes on?

MR. SIMPSON:  One example could be the station transformers, where they're monitored regularly for their DTA, their condition.

Our consideration also includes how heavily loaded the equipment is, and also the aging factors and environment.

So that is an example where things would tend to increase over time.

MR. BRETT:  Okay.  Now, just as an aside there -- and I don't have this -- well, let me just see here.  I'm trying to see what –- I'll just go back, if I may, to 13(b) for a moment.  There was something else I didn't pick up on that.

I don't have the reference with me. I don't have the actual document, but I did notice in the Navigant study that they did for you on your plan, that they stated at one point toward the end of the report that customers would likely see higher costs in the next few years.  Do you recall that statement?

And I had asked a question about it, and your answer in part was, well, that wasn't part of Navigant's mandate, to talk about operating costs.  Do you have -- do you recall that?  If you don't recall it, I don't want to put words in your mouth.  But just a second.  Let me see if I have the note of where it is here.  It was toward the end of that report, maybe around page 75 or something like that.  Let's not -- let me pass -- move from there.

But in any event, I guess, as you say, they weren't asked do that.  So your comment was that's not in their mandate, their study mandate.

Could you just turn this up?  Could you run this to the very end, please, page 67, and then run it back a little bit?

MR. KEIZER:  Mr. Brett, does this relate to, I think, your Interrogatory No. 30?

MR. BRETT:  That's right.  It is.  Thank you for pointing that out.  That will help us move on here.

MR. KEIZER:  Make sure the witnesses have -- you have that?

MR. BRETT:  Actually I don't see it as -- oh, yes.  Okay.  Something funny about the printing of this.  I see my question, but I don't see the line.  If you look up 30 -- let's look up 30 here.  There is a blank somewhere there.  Okay.  Quantifying the impacts of -- can you move that down a bit so I can see the beginning, the reference to the question?  Okay.  So it's page -- schedule 4, page 4.

And in the fifth bullet, Navigant states that:

"... customers would likely see higher costs..."

And I ask:  How likely?  Can you respond to that?

MR. KEIZER:  I guess what we're referring to is, just so everybody is aware, the Navigant study, which is at Exhibit D1, tab --


MR. BRETT:  That's correct.  The Navigant study done to sort of reaffirm your plan, your distribution plan.  I think it's an appendix to that section.

MR. KEIZER:  I think the reference in the interrogatory said page 4, and the --


MR. BRETT:  That's what it said, yeah.  I hope that's correct.  Is this page 4 now we're looking at?

MR. KEIZER:  I believe so.

MR. BRETT:  All right.  Here we go.  Just move it down a little bit.  Here we go.

The last bullet:

"Without the proposed investments, THESL customers would likely see higher costs in the form of increased O&M, longer restoration time, and greater likelihood of collateral damage due to catastrophic equipment failure."

So there, Navigant is saying that if you don't do this you'll see higher -- likely have higher O&M costs.  Do you agree with that?

MR. PARADIS:  It's likely in the event where we were not to invest in a plan fashion to address some of the assets already at end of life, there would be consequential increases in O&M costs and reactive activity costs.

So generally we would agree that if we were not to address issues pertaining to the backlog of assets that create risk in our system, there may be additional costs incurred.

MR. BRETT:  Okay.  The -- just a moment here, please.  Okay.

Now, I would like to talk to you for a moment about BOMA 28 and BOMA 31.  So I think turn up BOMA 31, is the best place to start with this.

This question is -- has a few different dimensions to it, but I think if we start with BOMA 31... okay.

Now, the first question I had was surrounding this concept of steady state that you talk about.  And the question is this.  As I say here in (a), does -- what do you mean when you say "steady state"?  Is that in respect -- with respect to -- I know how you define it generally, as a -- sort of in principle, but with respect to the assets that are still operating and are beyond useful life, are you saying that you can have a steady state with 5 to 10 percent or whatever percentage, some small percentage or modest percentage of your assets operating beyond their useful life?  Or are you saying that to have what you call "steady state," which I understand you to mean in broad terms -- and I want to try and keep this practical and not too theoretical, that -- or are you saying that to get to steady state, you have to have no assets beyond their useful life?  Could you answer that?

You didn't answer that question in your IR response.  You sort of walked around and talked about what you thought "steady state" meant in general, but I want to hone in and understand what you mean by "steady state" in relation to assets that are still beyond their –- that are still there beyond their useful life.

MR. WALKER:  I would say that in a purely theoretical sense, "steady state" would mean that all assets are replaced at their optimal point.  But in practical terms, that's not likely to occur or not cost-effective.

So if you have related assets in a construction assembly that have different ends of life, you may want to leave some of those assets in past their optimal point until their associated assets are at their optimal point, and then replace them all in one shot.

MR. BRETT:  This is your idea of sort of an area approach to replacing assets?

MR. WALKER:  It's much more cost-effective in a circumstance like that to do them together than to do them separately.

MR. BRETT:  In other words, steady state -- in other words you're going to have -- I think what you're telling me is you're going to have a situation for a very long time, if not always, where a certain percentage of the assets that are still being used are beyond their useful life?

MR. WALKER:  Absolutely.

MR. BRETT:  But that percentage would be -- is there sort of a percentage which you would regard as tolerable?

MR. PARADIS:  We actually have a specific reference where we illustrate what that percentage will look like.  So if I could take you to 2B, section E2, page 22.

MR. BRETT:  Yeah.  Maybe we can turn that up on the screen.  Okay.  This is page 22.

MR. PARADIS:  So what's shown here is that in approximately 2037, as described, when we would reach that steady state we would have this distribution of assets where 11 percent of the assets are past their end of life, 9 percent are approaching when the five-year horizon, and approximately 80 percent of the asset base is before its end of life.

MR. BRETT:  Okay.  And I think I was right earlier.  I believe I -- this is on the assumption that you're going to be spending or wish to spend approximately what you're spending per year over the next five years on asset renewal between now and 2037.  Is that part of this?  That was my understanding from something I read, but I can't pin the reference.

MR. PARADIS:  The spend over the period would be directionally aligned to what it is currently, yes.

MR. BRETT:  Okay.  Now, just going on on that same theme, you -- I want to talk to you a little bit about -- this is 31B.  I want to talk to you a little bit about this issue of how you assess useful life.

And in the -- in that paragraph B, you say, line 4, the age base -- so first of all, I think what you're saying is, okay, if we have got data on -- sorry, first we look at age, and we say:

"The age-based failure probability calculation is derived from hazard rate distribution function, which account for the typical life span of a given asset out of its respective asset class population.  For these reasons, the age-based failure probability calculation produces the default for base line failure."

So I want to leave aside asset condition for the moment and just talk about this age analysis that you do.  Now, you do this based on what?  You have data on the age of your assets, basically, for the most part, going back?  And how do you do this, this hazard rate distribution function?  This is -- is this sort of effectively a draft that shows along one line the age of this type of asset?  Because I assume you do this for each asset separately, each category of assets separately.  So this is sort of a graph along one line that gives you the -- or maybe it's a bell curve.  I'm not much for graphs.  I'm never a very good mathematician.

But this gives -- this is a probability -- this is sort of saying that 20 percent of that type of asset is going to fail before the age of 30 years and then another 50 percent before the age of 40 years?  I mean, what does this analysis do?  How is it done?

MR. OTAL:  So the age-based failure probability calculation is we're calculating the typical failure probability of that asset based upon the age of that asset.  So we do have an underlying hazard rate distribution function for our major asset classes and in some cases sub-classes, and so we would be looking at what is the typical failure probability of the asset based upon the age, which we do also have.  We have --


MR. BRETT:  That's what you mean by distribution function, eh, distributed among the various ages?

MR. OTAL:  Well --


MR. BRETT:  The likelihood of failure depending on the age?

MR. OTAL:  So through the hazard rate distribution function it will give us an age-based failure probability for each age for that asset, essentially, so if we have an age for the asset we can tie that to what the age-based failure probability result would be.

And I think in this particular response to BOMA 31 we used our age-based failure probability calculation -- I believe this was for a wood pole -- to determine the failure probability result for a wood pole that is 61 years of age, would receive an age-based failure probability result of 2.63 percent.


MR. BRETT:  That means that -- what does that mean then in sort of layman's language?  The 2.63 percent is what?

MR. PARADIS:  It means that if a pole has lasted 61 years there is a 2.63 percent chance that it will fail in that year at that age.

MR. BRETT:  That's a very small percent, so that's telling us that poles last a long time, typically last much longer than 61 years; is that right?

MR. PARADIS:  No, it doesn't.

MR. BRETT:  What is it saying then?

MR. PARADIS:  It's saying for that specific year the likelihood of the pole failing is 2.63 percent.  So what you would have to do is aggregate that value for a set of years, say 61 to 70, and you would see that that percentage, if you add up each year, is quite high, and that's what you would expect in terms of an asset of that age having lasted that long, surviving, the likelihood of survival.

MR. BRETT:  And you do this by looking at your -- you get this data -- this data is sort of the data that you have in your system for your poles over the last 20 or 30 or 40 years or whatever it is.  How much data have you got historically on, say, on the various assets, on the poles?  Take this example.

MR. PARADIS:  So I believe we have an exact reference, but I'll just speak to it briefly.  What we do is use a combination of our own data and industry data to establish those probabilities.

MR. BRETT:  Is the assumption then here that -- in this at this stage of the analysis that it's an average pole in terms of quality?  It's an average -- it's a typical pole.  It's not a pole that's full of bird-infested holes or rotting foundation because it's in swamp land?  Is there any basis -- is it based around a typical pole?

MR. PARADIS:  It's a population-wide assessment.  So, yes, it would, in broad terms, be a typical pole.  The portion of our planning activities or the part of our planning activities where we would account for the specifics of the operating environment of the asset would be when we start gathering condition information.

MR. BRETT:  Right.  And what about -- is it the same is true then with respect to its -- it would be fair to say it's a pole that's maintained in a typical fashion?  It's not a pole that has extra maintenance visited on it or not a pole that someone has forgotten to maintain or is maintained very thinly because of where it is?  Is it the same idea?

MR. PARADIS:  It would be a pole that's undergoing our typical maintenance activities.

MR. BRETT:  Okay.  Then you go on then to say that if you have a -- so that's the age analysis, and then you go on to say that if you do have condition information -- and this is in your response to 13(b) -- you don't have it for everyone, I gather, but if you do have health index values, you use them, and I want to draw your attention to the last sentence in that paragraph:

"Where a health index value is available for a given asset, the asset will be assigned its corresponding condition-based failure probability result only if the condition-based result exceeds the baseline failure probability produced from the age-based calculation."

So you'll have to go ahead.  This is --


MR. KEIZER:  You're reading from the second paragraph of (b)?  Right?

MR. BRETT:  Yeah, I'm reading from the second -- the bottom of the second paragraph.  Just go a little further down, scroll down a bit further.  Yeah, there we go -- no, we're on the wrong page.  It's on page 2, should be on page 2.  There we go:
"Where a health index value is available..."

That sentence there, do you see that?

MR. WALKER:  Line 11.

MR. BRETT:  Yes.  You see that, eh?  I just want to make sure we're moving here.

I don't understand that.  That, it seems -- and I would like you to explain that.  Why would you -- why would you only consider the health index value if it means a shorter life than -- let me give you a kind of a context for this.

You have a number of sets of -- you have a condition analysis, and you had one last time and you have another one this time, that sort of summarizes the condition analysis of all of your assets or most of your asset classes.  And in some of those condition analyses, you have -- you show virtually none of the assets in poor or very poor condition.  You show almost all of the assets in very good, good and fair condition.

Assume with me for a moment we're talking about a group of assets as I've described.  And why, if you were examining -- you would examine that class of assets, you -- your analysis, seems to me what you've stated here would lead you to -- could lead you to very large replacement of assets that were in very good or good condition, because you would be looking simply at the age and the age would get fed into your model, but you wouldn't take into account the fact that the asset was in very good condition, whereas you would take into account the fact that the asset had deteriorated.

And somebody here has written that the health index in itself represents a defect analysis.  Well, that's a convenient way of describing it, but how about the way I just described it?  Why would you ignore, in assessing the need to replace or to renew in practical terms, or even in terms of how your feeder investment model works, why would you ignore and replace gratuitously assets that were very -- that were in good or very good or fair condition?  Could you talk about that a little bit?

MR. PARADIS:  Maybe just one note to make.  We don't ignore information points that are made available to us, and we certainly do not replace assets gratuitously without proper justification for the need of that investment.

MR. BRETT:  But that's not what you say in this line here.  You say in this line that:

"Where a health index value is available, the asset will be assigned its corresponding condition-based failure probability only if the condition-based result exceeds the baseline failure..."

In other words, only if it's worse, only if it drives it down.  You won't consider if it brings it up, and you answer that by saying:  Oh, well, the analysis itself is just about defects.

But that's only half true, isn't it?  If you observe the material, you can make an observation that these poles are much younger than their nominal age -- if I can put it that way -- for whatever reason?

MR. OTAL:  The best way I would explain that is that the age-based failure probability curve is giving us the typical failure probability based on the age of that asset.  What's driving that failure probability?  It's typical degradation of the asset for that age.  So now we're looking at a health index.  The health index, we say it's a defect analysis, because the weighted degradation factors in the health index formula are purely there to tell us how that asset is degrading.  There's no weights or parameters in the health index that are going to make the health of that asset better.  It's only variables in the health index that are going to make the asset worse.

MR. BRETT:  But that seems to run counter to just the pure, simple language of the reports, because they categorize the assets as very good, good, fair, poor, very poor.

If an asset is characterized as in very good shape, you know, it would mean to me, it seems to me just on a sort of a common sense way of looking at it, that even if it's 50 years old, if it's still in very good shape it's not going to fail any time soon.  Your analysis would replace that asset?

MR. KEIZER:  Just so I can clarify, the reports you're speaking about in terms of the conditions are which reports?

MR. BRETT:  The report that you have in your evidence on the condition assessment of the assets.  You had one a couple years ago as well.

MR. KEIZER:  The Kinectrics report?  Is that what you're --


MR. BRETT:  Yes.  You had one a couple years ago as well.  Yes, it's the Kinectrics reports.

MR. OTAL:  So the way I would respond to that is, so yes, you know, like, we have these Kinectrics reports with health index data.  But you have to remember that in our AM planning process, we're using a combination of inputs and making our final decision.

So what we're walking you through here in this interrogatory response at BOMA 31 is how we're using a combination of age information and health index information, translating those into a failure probability calculation.

Both are reporting on degradation.  One is going to give you typical degradation based on the age of the asset; the other is going to tell us if the asset in question is degrading at an accelerated pace when compared to that typical baseline.

So that is where, if we're not beyond that typical baseline, then we will assign the baseline.  But if the health index tells us we're beyond that baseline -- the asset is degrading at an accelerated pace when compared to the age -- then we will adopt that condition-based result.

MR. BRETT:  Okay.  Can you turn up -- just give me a moment here.  You have a -- just sort of a slight shift in gears, but in your most -- the program that you call your most –- your poorest performing feeder program, you have -- as I understand it, these are defined as feeders that have failed seven times in the last -- I think it's the last 12 months.

Would these assets -- and my question is:  I take it these -- work on these feeders would have priority.  It would -- among all the other work on your conductors, either overhead or underground, that the poorest performing feeder work would be the highest priority; would that be fair?  You would go to those first?

MR. PARADIS:  From a worst performing feeder program, we would do the analysis and look at the rate of deterioration or degradation of performance.  And depending on the results of that analysis, we would assign some level of priority to that type of work.  It doesn't --


MR. BRETT:  I assume would you do that work on the worst performing feeders before you did the work on other feeders that were not in the category of worst performing?

MR. WALKER:  The FESI approach, the 12-month rolling worst performing feeder metric of seven or more interruptions, is really designed to address problems that are occurring in the current year.  It's very much a one-year kind of view, because typically our large capital projects, our large capital projects, take two or three years to implement.

So we look at both elements as important work towards ameliorating problems on that feeder, but we're trying to up our game from just the large capital expenditures to address problems that are occurring in the current year.  And that's where that program --


MR. BRETT:  So you would look at the previous year's record, effectively, and then implement it the next year?

MR. WALKER:  It's a 12-month rolling, so it's --

MR. BRETT:  Okay.

MR. WALKER:  -- as of today for the last 12 months.

MR. BRETT:  Okay.  Getting down towards the end here.  Let me -- let me ask you to turn up, if you could, 2B, Exhibit 2B, section D3 -- that's D as in dynamite -- D3, page 2.  There's nothing dynamite about this question, mind you.

Is this the entire -- okay.  Yeah, all right.  That's fine.  I'm looking at line 10, and this may be partly just semantics, but this first sentence there, starting at line 10, interaction points, you're talking here about the interrelationship between maintenance and capital, as I understand it broadly.  And you talk about -- you say at line 10:

"Interaction points include the fact that capital investment programs are informed through their associated cross-referencing maintenance programs to ensure that the capital investment program spending is above and beyond the life-extension benefits produced from the maintenance program."

Can you just tell me what that means?

MR. PARADIS:  I think what it means is that we account for the information that we collect through our maintenance activities to inform our decisions on capital investments.

MR. BRETT:  Okay.  So it's one of your information sources.

Now, then the next question is really going back to -- let me see.  Yes, the next sentence -- my next question is the next sentence:

"Maintenance programs also account for changes that are introduced by capital investment programs, including the introduction of new asset classes or elimination of existing asset classes.  For instance, the introduction of a new standardized asset class to replace an existing legacy asset class may result in the reduction of maintenance costs, thereby introducing cost efficiencies, as such a balance is ultimately achieved between capital and maintenance investments."

That tells me that you do expect often to get savings in maintenance and operating costs from the introduction of new equipment, capital renewal equipment, new equipment through capital investment; is that fair?  That's what I think that says.

MR. PARADIS:  We would occasionally expect savings in maintenance costs when the current maintenance regime requires us to potentially have a more aggressive maintenance schedule to mitigate the existing risk with the asset and where a new asset would have a lower risk.

And I think a good example of that would be our fibre-top network units where, because of the operating environment and because of their inherent design, we've chosen to take a more aggressive approach in our inspection cycles, and so the replacement of those units would consequently create benefit in terms of cost reductions for maintenance activities.

MR. BRETT:  Okay.  Thank you.

Now, the other question I had -- and it goes back to what we were talking about a moment ago, and that is that, do you have an estimate or can you make an estimate or could you comment on the extent to which the manner in which you proceed with your -- to implement your investment plan and the sort of conceptual frame -- well, the manner in which you proceed results in you replacing assets before the end of their useful life, assets that are in fair -- are in very good condition or good condition.  There's really two parts to that, I think.  There are two parts, and I understand that you have this area implementation concept, so I would expect you would say, well, because we operate in that way we're going to scoop up necessarily a certain number of assets that aren't -- that wouldn't be normally at the stage where we would replace them.

So I would like to know if you can put any number on that, any dollar value on that, and that's because of the way you proceed.  That's sort of the -- because of the way you effectively organize your work.

But the second area is, you're also, because of the way you're using the condition assessments and the age assessments, you're invariably replacing assets that are in very good, good -- or good shape.  And I would like to know what the value of those assets is; in other words, what asset -- what's the value of the assets that you're prematurely replacing, if I can put it that way.

Now, I'm not -- I'm not suggesting there is any fault here.  I'm just looking at the way in which you do business, and I'm looking to see what sort of dollar value of assets are being replaced earlier than they would need to be replaced from the point of view of their useful lives.

MR. PARADIS:  From a business-case evaluation standpoint, when we choose to intervene in a project manner, so a situation where we would group assets for replacements, we do account for remaining life of assets in our evaluation of the reasonability and the benefit of intervening, so we do consider that in our decision-making for capital investments.

I'll let my colleague Angela give you some details on the financial treatment that takes place.

MS. ROUSE:  Under MIFRS we are required to calculate a derecognition loss, which represents the value of an asset that still does have a remaining life, but --

MR. BRETT:  This is under -- sorry, just, I don't mean to interrupt -- under the IFRS accounting?

MS. ROUSE:  Correct.

MR. BRETT:  Right.  Can you give me a reference there?

MS. ROUSE:  Yes.  Exhibit 4B, tab 1, schedule 2.  Page 2 of 7 at the bottom there, table I, actually outlines our projected loss from 2014 to 2019.

MR. BRETT:  So these are the numbers along here?

MS. ROUSE:  Correct.

MR. BRETT:  And derecognition meaning taking out of service?

MS. ROUSE:  Correct.

MR. BRETT:  While they're still useful?

MS. ROUSE:  Correct.

MR. BRETT:  Okay.

MR. PARADIS:  Sorry, just a quick correction there.  It's not that the asset is still useful; it's purely a financial treatment associated with that asset.  So what it means is that the asset being removed still has some book value.

MR. BRETT:  That would suggest then that it's still useful.  I mean, I would need to read the wording of the IFRS statement or paragraph, but if it has -- all right.  If it has book value, saying that it still has book value, that's the test that they're using.

Okay.  I think that's fine.  Those are my questions.  Thank you.

MS. HELT:  Thank you, Mr. Brett.

Is there one of the other intervenors who would like to go next?  I'm conscious of the time.  It's 20 after 12:00.  I thought if we could get through all of witness panel 1 before we take the lunch break.  I'm not sure if that's going to be possible.  I know Board Staff does have a number of questions.  They will go last.

Mr. Garner, do you have any questions for this panel?
Questions by Mr. Garner:

MR. GARNER:  Thank you.  I may -- just one minute.  Excuse me.  I have a very bad throat, so you'll have to excuse the sound of what I'm going to say, not what I'm going to say, though.

If you can bring up your presentation and slide 9 and -- or you can bring up, I think, Exhibit 2B, D3.  I think that's where you actually got that graph from.

And this is where you were representing the trade-off between end of life and maintenance.  Just clarify for me, does the graph actually represent any specific asset?

MR. WALKER:  No.  In this case, it's just representative...

MR. GARNER:  Generally of the idea.

MR. WALKER:  --of the concept.

MR. GARNER:  And are there some assets that would not follow that type of trajectory?  Would that be fair, that you would run more to end of life than -- they don't have much maintenance in between?

MR. WALKER:  We do have assets that don't have interventionist maintenance, if you know what I mean.

MR. GARNER:  Right.

MR. WALKER:  But that's not really what this is looking at.  This is looking at a probability of failure of that asset.  So as an asset ages, regardless of the maintenance regime that it is under, it will in time degrade and have a higher likelihood of failure.

MR. GARNER:  Right.  But you're agreeing some assets, the maintenance cost doesn't per se rise as it ages.

So I'm thinking of a pole.  The pole basically doesn't have a lot of maintenance until it fails and then it's replaced, or it's replaced prior to failure, either way; is that correct?

MR. WALKER:  I would like to clarify.  When you say maintenance, there's planned maintenance and then there is the reactive and emergency maintenance.

The reactive and emergency maintenance will increase for assets as they age and as their probability of failure increases.  That's what that really represents, is the statistical probability of a higher failure rate as an asset ages.

So those costs would be included.  The planned maintenance costs, in some cases the assets don't change and in some cases they do.  We talked about -- station transformers is an example of where they do actually increase.

MR. GARNER:  Okay.  Thank you.

Now, can you bring up 1(b), BOMA 31, the conversation you were just having with Mr. Brett.  And there was one part of it I got a bit lost on.

That was in respect to -- in that interrogatory, I think the example is 2.63 percent failure.  And Mr. Brett asked you the question of:  Well, then is that not the failure rate of that pole?  And I think your response was:  No, it's a cumulative value of something else.

And I was a bit lost in that response.  If the health index is saying there's a chance of a 2.63 chance of failure, doesn't that mean there is a 97 percent chance in that year and the subsequent year, something close to that, of that asset failing?

MR. PARADIS:  Sorry, can you repeat your question?

MR. GARNER:  When you looked at that interrogatory, you have -- an asset had a failure probability value in that interrogatory of 2.63 percent.

And I believe the question Mr. Brett asked you was:  Well, doesn't that show that asset has a low probability of failure?  And I believe your response was:  No, it was -- and then you had this effective accumulative value of something.

And I got lost there, because it seems to me, looking at that response, the response indicates that asset has a 97 percent probability of not failing in that year.  And subsequent year would be close, unless there's some catastrophic change in the asset.

Am I missing something?

MR. PARADIS:  So it's two things.  It is cumulative in the sense that that's the specific probability of that asset failing at that age.  And my point was that a year prior to that, there was an additional probability of something slightly less than 2.63 percent, and the year following this year would have a slightly higher probability.

So really what you're seeing is probably in that given year but by the time a specific pole has made it to 61 years old, the cumulative probability that it would have failed by now is probably in the order of closer to 75 percent.  Now, I don't have the specific number, but -- so it's a probability that the failure will occur in that given year.

And a second point I would like to make is that when we look at our asset base, we look at the population as a group of assets.  And of course if you have a set of poles at the same age, all with a probability of 2.63 percent failing in that given year, that starts to amount to a significant risk of pole failures in that.

MR. GARNER:  I'm not sure I'm following that.

If a pole has a 3 percent chance of failure, it doesn't make 100 poles therefore have three times that.  Let's say of the same vintage.  They all still have a 3 percent chance of each one of them failing.  Right?  There is no cumulative effect to that?

MR. SIMPSON:  It's a probability distribution function, so in that snapshot in time, year 61, 3 percent of the population's poles will fail.

MR. GARNER:  I see.  I think I understand what you're saying now.

The other thing I didn't quite follow, in the health index that you're doing where you do an assessment of the assets, did I understand correctly -- I think Mr. Brett's point was the assessment is asymmetrical.  Any -- what you're doing is you're looking at the population of that item and you're trying to determine whether it meets the condition expected of that population.

If it doesn't meet the condition expected of that population, you score it below that, if it's degraded in a fashion more than would be expected for that asset; is that -- that's correct?

MR. OTAL:  So when we are comparing an age-based failure probability result and a condition-based result, understanding that the age-based result is the typical failure probability, if we see that based on the condition it does not exceed that baseline age value, then we will default to the age value.

MR. GARNER:  I want to be clear to -- then Mr. Brett's point was if one finds on the assessment that the asset is actually in much better condition than one would accept for the population, it doesn't get adjusted for that factor; is that what you're saying?

MR. OTAL:  No, it would not get adjusted for that factor.

MR. GARNER:  Thank you.

I would like to bring up VECC Interrogatory 2A VECC 15, and this is a question about major event days and how they are defined.  And I hope I have the right panel.  It's a relatively simple question.  I understand the answer, and thank you.  I see that you're using some standard that's in the industry.

My question is:  Does the industry have no standards that are related to cause of outage, as opposed to using the broader factors of SAIDI and SAIFI?  So use cause codes instead?

MR. PARADIS:  There are some suggested standards in terms of what cause codes are tracked and reported.  So there are.

MR. GARNER:  But you don't use those?

MR. PARADIS:  We certainly use them.

MR. GARNER:  Sorry, could you help me, then?  You're using in this one this IEEE standard that you defined.  Are there other standards that can be used in order to define major events days that relate to cause codes?

Where I'm going -- I won't be clever in this.  What I'm trying to actually understand myself is a major event day with weather, for instance, seems to be quite a legitimate concept.  A major event day caused by equipment failure, that you didn't maintain properly or didn't know you should have maintained properly, or -– sorry, didn't maintain in some fashion, that seems to be quite a different thing, right?

And I'm trying to understand how those two things can be measured and some distinction made between them.

MR. PARADIS:  So the MED treatment is purely a statistical evaluation of the magnitude of a reliability event compared to what the utility has experienced in the past.  So it wouldn't be dependent on the causes that led to that event.

MR. GARNER:  Is there a way to do that, though?  If we were going to suggest to you, let's say, that you should use a different coding that uses some sort of cause, outage cause, could you do that?

MR. PARADIS:  So maybe to clarify, every outage that occurs in our system is coded according to our standard cause codes, so for example, if a day was to read that MED threshold, the underlying events would still be coded as per our usual reporting approach.

MR. GARNER:  Okay.  What I ask is again if we go back to the presentation -- and I'm not certain which page it is on, but it's the page where you discussed the metrics that you were using.  And I'm sorry, I don't have it right in front of me, but if you could find that page, and you discussed the different metrics that were going to be monitored.

MR. WALKER:  Yes.

MR. GARNER:  Thank you.

My question is, is it possible for Toronto Hydro to create different metrics than SAIDI and SAIFI that would use outage codes instead, like equipment failure?  Based on the type of data that you collect already? 

MR. SIMPSON:  Just while we're finding the material, we believe all those cause codes are already available in the outage data and are generally reported.

MR. PARADIS:  So maybe to point you to a specific reference, Exhibit 2A, tab 10, schedule 2, and on page 10 we've provided a breakdown of the system events and their cause codes as reported.

MR. GARNER:  Right.  So that says to me -- I don't want to put words in your mouth -- that you could have, if asked, create metrics in your plan that are more refined in a sense than SAIDI and SAIFI.  They're more related to actual plant issues like equipment failure.

MR. WALKER:  As I mentioned, one of the metrics we've put forward in the DSP is directly related to equipment failures, defective equipment, so that's an example where we are using the more detailed cause codes specifically as a metric.

MR. GARNER:  And in your plan what's the consequence -- or first of all, let me ask this.  In your plan do you set targets at all for any of these?  As performance targets?

MR. WALKER:  No, we don't set targets at the individual cause code level.

MR. GARNER:  So there's no internal target budgeting -- as part of your capital planning you don't set any targets yourself for certain equipment in order for it to not fail certain ways, et cetera?  You don't do any of that?

MR. PARADIS:  No, what we do is we monitor the trending for each cause code as a means of assessing the impact of our activities and our investments.  We don't set specific asset or equipment-level targets for performance.

MR. GARNER:  Okay.  Another final question on this issue of targets and metrics, and you may not be able to answer this, but I'll put it to you as the first panel anyways.  In Toronto Hydro, what incentives or penalties are related to any of the metrics in your plan?  So what happens if SAIDI goes up or down or whatever other metrics you're proposing to report on?  What impact does that have to anybody in Toronto?

MR. KEIZER:  Is that something we need to consider as an undertaking, or...  So maybe you can state it again and we can do it as an undertaking.

MR. GARNER:  The question is, what incentives or penalties are applied with respect to meeting any of the metrics or targets that Toronto Hydro is proposing to report on as part of its plan?

MR. KEIZER:  And just so I understand, when you say "incentives or penalties", incentives or penalties imposed on itself, or --


MR. GARNER:  Well, it could be to their employees, it could be, I guess -- I don't think there is in the evidence anything that says there is any rate adjustment, et cetera, but if there were I would certainly be interested in hearing about that.  But generally what I'm thinking about is internally in the company what motivations exist around the targets and metrics that are put out in this plan.


MR. KEIZER:  Okay.  We can undertake to do that.

MR. GARNER:  Thank you.

MS. HELT:  That will be Undertaking TCJ1.1. 
UNDERTAKING NO. TCJ1.1:  TO IDENTIFY WHAT INCENTIVES OR PENALTIES ARE APPLIED WITH RESPECT TO MEETING ANY OF THE METRICS OR TARGETS THAT TORONTO HYDRO IS PROPOSING TO REPORT ON AS PART OF ITS PLAN.

MR. GARNER:  Now, again, if we can go back to your presentation this morning, and you have a page where you had the capital budgets showing, and it was, I think, the first graph -- it's on -- yes, that's it, number 10.

I see it's a dramatic graph because it shows that there's $2.5 billion needed to be spent in 2015.  But if I'm correct -- and I don't have the reference at my fingertips, but if I'm correct, the years preceding 2015, you had a significantly smaller capital budget.  I think you can find the numbers maybe even in Schools, 1B Schools SEC 5, but they're also in the evidence.  I don't think you need to bring them up if you agree with me that prior to 2014 the spending in the capital budget of Toronto Hydro was significantly less.

MS. ROUSE:  I can refer you to appendix 2A, tab 6, schedule 2.  That does summarize the historical spending from 2010 to 2014.

MR. GARNER:  Right.

MS. ROUSE:  And I do think it would be fair to normalize out some of the large projects, such as Copeland, in the comparison.

MR. GARNER:  Well, the reference I'm looking at is Exhibit 1A, tab 2, schedule 1, which has a graphical representation, I think, of the same thing you're talking about in the table, and since we're using graphs -- and unlike Mr. Brett, I love graphs, 'cause -- as opposed to words.  That graph actually shows quite a distinction between 2006 and 2015.  And perhaps normalizing it, maybe you can help me whether normalizing that graph would change it significantly.

MR. KEIZER:  Sorry, do we have the right reference now on the screen?  Is it --


MR. GARNER:  Yes, that's it, thank you.

MR. KEIZER:  Can you state the reference again?  It's cut off at the top. 

MR. GARNER:  The reference -- yeah, it's 1A, tab 2, schedule 1, and this is the updated version.  And it's a long way to get to a very simple question.  What is the cause of the significant change that happens in 2014 onward, as opposed to the five years previous?  What's the event that occurs?  Because it looks like it's quite a dramatic adjustment to the capital program with the utility.

MR. PARADIS:  It's not a specific event that drove the increase.  It's in fact, you know, the accumulation of assets having passed their end of life that led to this requirement to increase the expenditure levels.

MR. GARNER:  I can certainly see that, but I guess that begs the same question, which is -- let me put it this way.  Why did you spend $193 million in 2006 when it clearly looks like you should have been spending more money than that?  If your argument is, My assets have fallen behind in their capability.

MR. WALKER:  A certain amount of that is related to our ability to ramp up our execution resources.  We started building a contractor community that can support our work, and year over year that grows, we get more contractors involved, and we get more capacity, which allows us to do more work.  And that's a significant portion of how we're able to achieve the kind of capital spend levels we're talking about now.

MR. GARNER:  So you're telling me that the reason that 2006 to, I'd say 2009 is one half of what you're spending now is due to capacity of your ability to service -- to do this work?

MR. WALKER:  It's one element.  It's not the only element.  But as the -- as time progresses, more and more of our assets reach or exceed their end of life, requiring more and more investment, so that's part of it as well.

MR. GARNER:  Well, if that were true, wouldn't, then, the -- what it would mean is I would be walking backwards and see the installation of those assets being in the same pattern as I'm seeing they're replaced?

The second thing you're just telling me is -- basically it reads like this -- is in 2010 I did a lot more work than 2009, because 40 years earlier -- or whatever period you want to say -- I installed those assets in the same sort of pattern; would that be true? 

MR. WALKER:  I don't think you can say it's a perfect reflection of how assets were installed in the past.  As you know, there was a significant postwar boom across the world.  And Toronto Hydro experienced that over the course of two or three decades.

And most of that plant is reaching its end of life.  So we do have a demographic peak that we're trying to deal with. 

We're not replacing those assets, obviously, in lockstep with when they reach their end of life.  That's why we have so many assets past their end of life.  That's what we're trying to address. 

MR. GARNER:  Let me follow a question that Mr. Quesnelle asked you this morning.  And I thought it was quite interesting.

And I hope I have what he was discussing correctly, but the gist, I thought, of what he was asking you was:  Why would your depreciation schedules not be aligned with your capital budgeting problems?  I.e. -- and this goes to some of the other questions here, is:  Why would assets not be depreciating in the same general pattern as their replacement?  Because isn't the purpose of financial books to actually follow real things?

MR. KEIZER:  Is that the same as the undertaking that we've already given? 

MR. GARNER:  Maybe you can help me with that undertaking, Mr. Keizer.  What was the undertaking? 

MR. KEIZER:  I don't have the exact wording. 

MS. HELT:  Technical conference J1.1:

"What incentives or penalties are applied with respect to -–"

MR. GARNER:  No, sorry.

MR. KEIZER:  This morning during the discussion with the Panel, during the evidence conference -- and unfortunately I don't have the record in front of me, but it was a question put forward by one of the Panel Members, and Toronto Hydro indicated they would try to get back, as I recall.

MR. GARNER:  I recall the conversation as being more that you would give some thought to his -- what he was talking about.

MS. HELT:  My understanding was that it wasn't a formal undertaking.  Mr. Quesnelle asked that perhaps one of the other parties could follow up with it during the --


MR. KEIZER:  And that we would actually consider it throughout the course of this --


MS. HELT:  Yes.

MR. GARNER:  Yes. That was my understanding too.

And so, Mr. Keizer, what I'm trying to do is actually follow that up more specifically, and ask for --


MR. KEIZER:  Yes, I understand. 

MR. GARNER:  So I thought the gist of what he was saying was that difference, that the financial books or the accounting should generally be in lockstep with the actual assets.  And your proposal seemed to be at odds with that.

Can you help me with that, since now we have the panel and the financial people here on your panel?

MR. KEIZER:  Maybe that's something that, if it requires some analysis externally, that we should take it as an undertaking to clarify. 

MR. GARNER:  If we want to take a break, Mr. Keizer, I'm in your hands.  I'm satisfied with that. 

MR. KEIZER:  That will be helpful, I think, in terms of just being able to decide what we can answer here and what we can answer by way of undertaking.

MR. GARNER:  Okay.  Thank you. 

MS. HELT:  Are you prepared to give an undertaking with respect to that question? 

MR. KEIZER:  Yes, we are.  Can I just actually, though, can we just make sure we state the question again, because there's been a couple of runs at it?

MR. GARNER:  Certainly.  I'll do my best.

I think the question Mr. Quesnelle had or I have is:  Why does the depreciation schedules -- or depreciation values for the utility differ from the capital budget proposal of the utility?  So I think that was the gist of it. 

MR. KEIZER:  Okay. 

MR. GARNER:  If any of my colleagues want to jump in who were listening to the same conversation and add to that, by all means. 

MR. KEIZER:  And maybe -- there is some discussion as to whether we should be doing it as an undertaking or not, is take it away over the lunch break and deal with it at that time. 

MR. GARNER:  Thank you. 

MS. HELT:  All right.  Thank you. 

MR. GARNER:  Now, my next question is related to 2A VECC 18, and this is about the ERP program.

MR. KEIZER:  And I believe that's actually the next panel. 

MR. GARNER:  Okay.  Thank you, Mr. Keizer.  I think those are my questions for this panel, at least the ones I can find.  Thank you.  Thank you, panel. 

MS. HELT:  Thank you, Mr. Garner.  Are there any questions from Energy Probe?
Questions by Mr. MacIntosh:

MR. MacINTOSH:  Thank you.  As I have indicated by a letter to the Board yesterday, Dr. Higgin was going to come and present his questions.  And so since he could not be here, yesterday we filed his questions to everybody in a letter to the Board Secretary.  And I'm wondering if it would be possible to give that an exhibit number. 

MS. HELT:  Yes.  We can mark that as Exhibit TCK1.1 letter filed by Energy Probe, dated November 16, 2014.
EXHIBIT NO. TCK1.1:  LETTER FILED BY ENERGY PROBE, DATED NOVEMBER 16, 2014.

MR. MacINTOSH:  To make this a bit easier, I have some hard copies. 

MR. KEIZER:  Mr. McIntosh, just so I can understand your intent, is your intent to read the question and put it to the witness?

MR. MacINTOSH:  It might be easier for them if they saw the question in hard copy, because there are some graphs.  If that's fair. 

MR. KEIZER:  And was this going to be the extent of your questioning? 

MR. MacINTOSH:  That's right. 

MR. KEIZER:  Or were you going to have any follow-up? 

MR. MacINTOSH:  That was the basis.  And I realize some of these would be subject to undertakings. 

MR. KEIZER:  Can I have a moment to consult whether we take -- to clarify whether we want to do it piecemeal, or take the whole thing as an undertaking?  Can I have one minute?  Would that be satisfactory if we did do that? 

MR. MacINTOSH:  That would be satisfactory, although there is one question, I believe, to another panel, but that doesn't really make a difference. 

MR. KEIZER:  All right.  Can I just have a moment?

[Witness panel confers]

MR. KEIZER:  So as I understand it, then, these would be the extent of your questions.  And to the extent that Toronto Hydro would go and attempt to make answer to these and file them by way of an undertaking, then that would complete Energy Probe's examination today, as I correctly understand that?

MR. MacINTOSH:  That's correct.  And when you were doing the undertaking, if you had any questions, I'm sure Dr. Higgin could respond by e-mail. 

MR. KEIZER:  We haven't, obviously, assessed this in terms of the length of time or otherwise. 

MR. MacINTOSH:  That's correct. 

MR. KEIZER:  We recognize there is a certain date for us to file the undertaking responses, but some of these may or may not -- depending on the degree of analysis required -- require us to take a longer period or cause some concern that we may have to come back and advise parties in that regard.

Obviously, we haven't assessed these either in terms of relevance, but we would address that to the extent needed to during the course of responding to them in writing.

MS. HELT:  Thank you, Mr. Keizer.  

Mr. McIntosh, then we would note that as Undertaking TCJ1.2, for Toronto Hydro to provide written responses with the conditions noted by Mr. Keizer with respect to the technical conference questions presented by Energy Probe in its letter dated November 16th, 2014.  Thank you.

MR. MacINTOSH:  Thank you.  
UNDERTAKING NO. TCJ1.2:  TO PROVIDE WRITTEN RESPONSES WITH THE CONDITIONS NOTED BY MR. KEIZER WITH RESPECT TO THE TECHNICAL CONFERENCE QUESTIONS PRESENTED BY ENERGY PROBE IN ITS LETTER DATED NOVEMBER 16TH, 2014.

MS. HELT:  I understand, Ms. Girvan, you have approximately ten minutes of questions, and then I would suggest after that we take our lunch break, if that's agreeable to everyone.
Questions by Ms. Girvan:

MS. GIRVAN:  Sure.  Ms. Greey and I are going to just tag-team a little bit here.

So I just have two very brief questions.  If you could please turn up CCC -- it's 2B-CCC-24, please.  And the question refers to Toronto Hydro's proposal to kind of move things around from year to year.  And my question in terms of clarification is really at the end of the question talked about -- we asked about detailed reporting that Toronto Hydro plans to provide regarding its capital program?  Sorry, I can't really see you, but -- so I'm just interested, and you've said in the second page of that interrogatory that annual reporting will consist of -- with respect to capital will consist of meeting the OEB scorecard approach for performance measurement, reporting on the proposed performance measures framework, as we've seen this morning.  So those two things.

I'm just wondering if Toronto Hydro is prepared to file in addition to that annual reporting proposed capital spend and actual capital spend in each year of the program.  This may be for panel 4, but --


MR. KEIZER:  Yeah, I think this may be best for panel 4.

MS. GIRVAN:  Okay.  I'm just referring to the --


MR. KEIZER:  The statement again, Ms. Girvan, is --


MS. GIRVAN:  Yeah, I'm just looking at annual reporting, and one of the things that we would be interested in is if Toronto would be prepared to file on an annual basis as part of its reporting proposed capital spending versus actual capital spending during the five-year term of the plan.

MR. KEIZER:  Okay.  Thank you.

MS. GIRVAN:  Thank you.

And then this is just one question for Mr. Walker, arising out of this morning.  And I think you said that 86 percent of the proposed capital spending in the five years is similar in nature to the ICM work.  I guess I'm trying to understand what you mean by that, in the sense -- my understanding of ICM is incremental capital over and above what you spend on a regular basis, and it seems like most of your capital spending during the proposed plan is ICM spending?  I'm a little bit confused about that.

MR. KEIZER:  I think that's also a question for panel 4.

MS. GIRVAN:  Okay.  It was just Mr. Walker who made the comment this morning that --


MR. KEIZER:  Yeah, no, I understand.

MS. GIRVAN:  Okay.

MR. KEIZER:  But I think that's probably best addressed by that panel.

MS. GIRVAN:  Okay.  Thank you.  I'll pass it on to Ruth then.
Questions by Ms. Greey:


MS. GREEY:  Thank you.  I wanted to ask a question that relates to a VECC IR, and it's 2A VECC IR No. 8.  And it's discussing 715 Milner.  Just for clarification, when was 715 purchased?

MR. KEIZER:  I believe this also -- this falls under the next panel, which is dealing with capital, but also dealing with general plant.

MS. GREEY:  It is 2A, tab 1, because I'm going to also refer to the evidence, and it's -- okay.  Did you want to move it to that?  I'm fine whichever way, but it is...

MR. KEIZER:  It's dealing with the --


MS. GREEY:  Okay.  No.  Super.

MR. KEIZER:  Sorry, just one -- could I just have a moment, please.

MS. GREEY:  I'm fine to move it, because I now recognize I was using the 2A, but a lot of what I was going to discuss is in 2B.

MR. KEIZER:  Well, just -- maybe you should ask your question and then we can assess, because maybe I'm prejudging your question.

MS. GREEY:  Well, I have a series of questions, because I wanted to talk specifically about that property, when it was purchased.

MR. KEIZER:  Oh, particularly Milner?  Is that --


MS. GREEY:  Yes, yes, my series of questions is about 715 Milner.

MR. KEIZER:  I think it would be the general plan in the next panel.

MS. GREEY:  Okay.  Thank you.  That was -- there we go.

MS. HELT:  Does that complete your questions?

MS. GREEY:  Completes our questions.

MS. HELT:  All right then.  Well, I would suggest since it's five to 1:00 we break now for lunch, we come back and complete panel 1, and then move on to panel 2.  I would suggest we take an hour for lunch, so we come back at five to 2:00.  Thank you.
--- Luncheon recess at 12:52 p.m.
--- On resuming at 1:54 p.m.

MS. HELT:  All right everyone.  We may as well get started.

I understand that the next party that has its questions ready to go is Ms. Grice.  And you have a consultant who would like to call in for that purpose?

MS. GRICE:  Yes, that's right.

MS. HELT:  I'm going to conference him in and then you can start with your questions and perhaps give an introduction to who he is while I'm doing that.

MS. GRICE:  Okay.  On behalf of AMPCO today, I will be asking some questions.  As well, we have a consultant who's phoning in; Marty Longlade will be asking some questions on Exhibit 2B.  And with me is Hamza Mortage, who will also be asking some questions.

MS. HELT:  Shelley, do you have any questions?

MS. GRICE:  I do.  I just have a couple of quick ones on the presentation, so maybe I can just do those.

If we go to slide 8, that shows the percentage of assets that are past economic end of life by 2015.  I wondered if THESL could provide the same chart, but that showed the status of the assets past end of life as of 2010.

MR. WALKER:  When you say "status," you mean?

MS. HELT:  Excuse me.  Marty, is that you?

MR. LONGLADE:  Yes, it is.

MS. HELT:  If you could just hold on for a minute, Ms. Grice is asking a couple of questions, and then we'll proceed with your questions.

MR. LONGLADE:  Okay.  Great.

MS. HELT:  Thank you.

MR. WALKER:  Can you explain what you mean by "status"?

MS. GRICE:  I guess I just mean the same chart that's provided on slide 8, but what it looks like in the year 2010 before THESL ramped up the capital program?

MR. KEIZER:  I'm trying to understand what's 2010 got to do with the test year period from '15 to '19.

MS. GRICE:  We're trying to understand the historical spending and -- since 2010, and how that compares to the plan period.  So that's directly related to the assets that were past end of life as of 2010.

MR. KEIZER:  But I don't know if that -- whether the pie chart related to end of life necessarily reflects historical spending, given the nature of how the assets may progress through time.

MS. GRICE:  I just want to see a snapshot comparison of what it looked like it in 2010, compared to what it looks like at the front end of this application.

MR. KEIZER:  Is that something that we actually can do?

MR. PARADIS:  We're just conferring here.  My understanding is that we would be able to provide it for 2011, but given that it was a new approach we were taking at that time, it's not something we would be able to do retroactively for 2010.  So perhaps 2011 would be helpful?

MS. GRICE:  That would be great, thank you very much.

MS. HELT:  We'll note that as Undertaking TCJ1.3.
UNDERTAKING NO. TCJ1.3:  TO UPDATE SLIDE 8 WITH 2011 DATA.  

MS. GRICE:  One more question on slide 28, where you provide a summary of the performance metrics. 

In the last column there's one, "Outages caused by defective equipment."  And I wanted to confirm.  Are the historical number of outages caused by defective equipment on the record in this proceeding?

MR. PARADIS:  Yes.  So if I take you to Exhibit 2A, tab 10, schedule 2, on page 10, so there's some historical values for the period between 2009 and 2013 for defective equipment.

MS. GRICE:  Is that the same way, then, you'll be reporting it in the future?  As part of this application?

MR. KEIZER:  You mean reporting it in the future with respect to?

MS. GRICE:  With respect to this metric?  Are they going to be comparable?

MR. PARADIS:  Yeah.  The reporting going forward should be consistent with the historical reporting, and therefore should be generally comparable.

MS. GRICE:  Okay.  Thank you.

Okay, Marty.  Over to you.
Questions by Mr. Longlade:


MR. LONGLADE:  Good afternoon, panel.  I'm looking at -- well, my question surrounds the interrogatory responses 2B-AMPCO 1-2-14.  Also have some general questions regarding the evidence in 2B.  And perhaps I'll start with that.

MR. KEIZER:  We didn't quite get the interrogatory reference.  Could you run that by us again?

MR. LONGLADE:  2B-AMPCO, 1 to 20.

MR. KEIZER:  1 to 20?  So all 20 interrogatories?

MR. LONGLADE:  No, I don't have questions on all of them.  I'll skip around them.

I also have a couple general questions with respect to the evidence that was presented in 2B and I'll start with that.

I notice in your executive summary on the distribution plan, you mention that climate change is a key system pressure worthy of mitigation considerations.  And you've implemented a plan to undertake a study to determine just exactly what the impact is --


MS. HELT:  Apologies, Mr. Longlade.  I think the court reporter is having some trouble hearing.  Is that correct?

Would it be possible if you do two things?  One, if you just speak a little more clearly, and a little more loudly, that would be very helpful.

MR. LONGLADE:  I'll see what I can do.  How's this?  Okay?  Okay.

The first one.  With respect to climate change, to THESL's knowledge, do you know if the CSA is contemplating changes in its distribution design standards in response to climate change?

MR. KEIZER:  Is there a particular reference in the evidence you're pointing to that --


MR. LONGLADE:  There is none.  No reference.  Just an indication, based on your description of the distribution system plan and the underlying tenets thereof to support different capital expenditures, you talk quite a bit about climate change as being a key system pressure.

So I'm just wondering whether or not -- if in that determination of being a key system pressure, whether or not you've approached CSA or has anyone in the distribution industry approached CSA with respect to any pending changes in its distribution standards with respect to climate change?

MR. PARADIS:  Subject to change [sic], we're not aware of anyone approaching CSA with regards to climate change.

MR. LONGLADE:  Okay.  Next question, with respect to various reference to customer interruption and customer interruption figures CI and CHI that are quoted throughout the evidence, I just want to confirm the treatment within these figures for outages that last less than a minute, and I just want to confirm that customer outages lasting less than a minute are counted as a single customer interruption for CI accounting and counted as zero for CHI.  Can you confirm this?

MR. PARADIS:  So in the case of events lasting less than a minute, what we would account for is the event cost and with no associated duration cost; that's correct.

MR. LONGLADE:  Okay.  The rest of the questions are specific to interrogatory...  I'm looking at --


MS. HELT:  Apologies again, Mr. Lalong (sic).  I think the court reporter is having some difficulty again hearing you, so again, if you just speak a little slower and as clearly and loudly as possible.  Thank you.

MR. LONGLADE:  Okay.  I'm looking at interrogatory response 2B-AMPCO-1, page 4, question B, where you indicate:
"Please identify the total man-hour commitment for the total capital project program in each of the application years."

And the response was such that since external man hours, external contractor man hours, couldn't be properly estimated, you couldn't give a figure, and I'm wondering if you could identify the total man-hour commitment in each of the application years for the capital dollars spent expended by the utility, exclusive of contracted hours?

MR. KEIZER:  Sorry, I'm just trying to understand, so are you saying man hours but also capital expen -- I'm just trying to -- can you repeat the question again?

MR. LONGLADE:  Okay.  Can you please identify the total THESL man-hour commitment for the total capital project program that is not externally contracted in each of the application years?

MR. KEIZER:  Is that something that the panel can do?  Basically, you're saying you want to know the internal man-hour commitment.

MR. LONGLADE:  Correct.

MR. KEIZER:  Is that something we have available, or we have to look to see whether we -- it's possible to even have the data?

MR. PARADIS:  Given the current level of our plans, it would be impossible to provide specific values in terms of labour hours associated with the programs over the CR period.  Those are things that become clearer as we progress through the job planning process towards execution, and that's something that would not be readily available at this time.

MR. LONGLADE:  All right.  We can move on to -- could you -- well, before we move on, is it possible to respond to that with an undertaking, or is it just not available period?

MR. KEIZER:  I think he has indicated that it's not available.

MR. LONGLADE:  Okay.

MR. DUMKA:  Excuse me, could I interrupt for just a moment?  And it might help out.  With regards to one of the Society interrogatories, we asked for the total compensation dollars that are capitalized, so one would assume -- and that was provided.  I can give you the reference.  It's -- the interrogatories 4A Society 4, appendix A, so the capitalized compensation dollars are there at least through to 2015, so there's a starting point.  There is presumably an estimate that can be derived if you provided the compensation dollars.  It shouldn't be rocket science to come up with a ballpark in terms of the FTEs.

MR. KEIZER:  I think what he is indicating, though, is over the complete period, '15 to '19, until you understand how the capital will roll out as you start to actually develop your plans, you won't understand necessarily what your, you know, your complement of resources are actually going to be.  So therefore they haven't created that number and haven't generated that number.

And not that they haven't, they also can't, because those capital plans haven't necessarily progressed fully to the implementation point.  That's what I understood the answer to be.

MR. LONGLADE:  Okay.  Thank you.

Okay.  I am looking at 2B-AMPCO-4, page 1, response A, in response to:
"Please clarify if the do nothing option changes" -- this is 4, contingency enhancement -- "if reliability to the aging assets is addressed in other capex programs."

MR. SIMPSON:  Helpful if you could restate your question, please.

MR. LONGLADE:  Okay.  I haven't stated the question yet.  I'm just waiting for everybody to get the right reference.

MR. SIMPSON:  Yeah, we're here.  We've got it.

MR. LONGLADE:  Okay.  The last paragraph in the response A indicates that:
"The value of these investments is significant regardless of the probability of failure on the feeder, as demonstrated by the significantly positive MPV for the first year of the proposed program."

If I could restate that, it says that the level of probability of failure is not a factor in determining a favourable MPV analysis for the project.  You have -- the contingency enhancement program is designed to address contingency conditions, which one would assume to have a certain level of probability of occurrence.

Further, you could assume that if the probability of occurrence is zero for all the contingencies considered, then the contingency enhancement project would not be required.  So I'm trying to understand why the MPV analysis is not dependent on probability of failure of a contingency for the program?

MR. PARADIS:  For the programs or the investments in that program attempt to enhance our ability to respond to events when they do occur and as such provide benefit through enhanced contingency management capabilities regardless of whether the event itself does occur, therefore the benefit of carrying out the work.

MR. LONGLADE:  So are you saying then that the probability of failure has no impact on the NPV for this particular capital module?

MR. PARADIS:  No.  There is an impact of probability in the value of the program, but this is a program where most of the value is derived from the enhanced capability to respond to events.

MR. LONGLADE:  Okay.  So if I could rephrase the response, then, what is actually being said is that the probability of failure has, I guess, a small or insignificant effect on the significantly positive NPV, rather than no effect; is that accurate?

MR. PARADIS:  Yes, that's accurate.

MR. LONGLADE:  Okay.  Moving on, the same module, this is a new follow-up on the contingency enhancement program.

Could you identify the reliability metrics that you used in identifying the system areas requiring the additional tie and sectionalizing points, the upgraded undersized loop connectors, and the upgraded capacity of trunk egress cable, and the expected improvement of those metrics on the program completion, either collectively or separately?

MR. KEIZER:  Is that in the IR you were just looking at, or is that a different IR?

MR. LONGLADE:  This isn't from the IR at all.  This is just a question with respect to the contingency enhancements at capital programs, E7.1.

MR. KEIZER:  I'm wondering whether perhaps this is something we should just roll into an undertaking, since this is a specific question that we're trying to find in the evidence, but it may be more helpful to provide in writing.

MR. LONGLADE:  Yeah, I couldn't find in the evidence.  That's why I'm asking.

MR. KEIZER:  Could you restate that question again for the record?  And then we can mark it as an undertaking.

MR. LONGLADE:  Sure.  Please identify the reliability metrics used by THESL to determine the system areas requiring, A, additional tie and sectionalizing points on loop feeders; B, upgrade existing undersized loop connectors; and C, upgrade capacity of trunk egress cable, and the expected improvement of these metrics on the program completion, either collectively or separately.

MS. HELT:  All right.  We'll note that as Undertaking TCJ1.4.
UNDERTAKING NO. TCJ1.4:  PLEASE IDENTIFY RELIABILITY METRICS USED BY THESL TO DETERMINE SYSTEM AREAS REQUIRING A, ADDITIONAL TIE AND SECTIONALIZING POINTS ON LOOP FEEDERS; B, UPGRADING EXISTING UNDERSIZED LOOP CONNECTORS; AND C, UPGRADING CAPACITY OF TRUNK EGRESS CABLE, AND EXPECTED IMPROVEMENT OF THESE METRICS ON THE PROGRAM COMPLETION, EITHER COLLECTIVELY OR SEPARATELY.

MR. LONGLADE:  I'm looking at Exhibit 2B, E7.2, "Design enhancement."

Also something I couldn't find in the 2B evidence.  I'm wondering what assumptions were made with respect to reduction of momentary and sustained faults and customers impacted in arriving at the delta-2 for this project, the difference in cost ownership?

MR. OTAL:  If I refer to Exhibit 2B, section 7.2, page 27, table 6, which contains the business case evaluation results for this program, basically the mitigation of -- or the mitigated impacts of momentaries would have been captured both as an asset risk and a non-asset risk adjustment within this cost of ownership calculation.

MR. LONGLADE:  Do you have specific figures, or it's just the general methodology, I assume?

MR. OTAL:  No, I wouldn't be able to break that figure down.  It would just -- it's really embedded into the asset risk and particularly in the non-asset risk component of the cost of ownership, particularly because non-asset risks, it can be due to a number of factors outside of the assets.  And so we wouldn't be able to break that figure down, essentially, from this value.

MR. LONGLADE:  What about if you looked strictly at asset risk?

MR. OTAL:  So within the asset risk calculation, we would consider both an event cost and a duration cost that would be associated with -- in terms of the impact of failure for each of those assets.

So the event would essentially be when that outage is first taking place, and, you know, if -- essentially it's that event that's capturing that first initial shock to the customer when the outage is first taking place, so in effect it's that -- it's that stage that would be captured as well in a momentary.  In a momentary situation, you would just have the event and not the duration cost.

So again, that would be embedded within that figure.

MR. LONGLADE:  Great.  I understand that.  And I'm just wondering whether or not you can provide any figures as to the percent reduction in those costs, assuming that the program is undertaken.

MR. OTAL:  Could I ask you to restate the question and we can take that as an undertaking?

MR. LONGLADE:  Sure.  The question started out as:  What assumptions were made with respect to reduction of momentary and sustained faults and customers impacted in arriving at the difference in the cost of ownership for this project?

And I guess what it boiled down to after we had some discussion was that you would be able to provide that for the asset risk only, associated with potential reductions both in customer outage costs related to, I guess, momentary and sustained outages.

MR. KEIZER:  I guess then you --


MR. LONGLADE:  Do you want to take a stab at rephrasing that?  Go right ahead.

MR. KEIZER:  Well, I don't know that that's a question in there.  I mean, we're not going to take a stab at -- that answered most of your questions, then you had something that you followed on, and they asked you to restate it, and I think -- I'm not quite sure exactly what it was, but I think they've answered a part of that question, if not all of that.  It's just you had some follow-on from that.

MR. LONGLADE:  Right.  And the follow-up was whether or not THESL could identify the reduction in customer risk costs in arriving at the difference in the cost of ownership for this project.

MR. KEIZER:  And I believe -- is that the nature of -- I'm sorry, I'm looking at the panel --


MR. LONGLADE:  Wasn't that the nature of the discussion?

MR. KEIZER:  No, no, I'm not -- actually just looking at the panel when I'd asked that question.

MR. LONGLADE:  Oh.  Sorry.

MR. KEIZER:  That's okay.

MR. PARADIS:  Yes, we can do that.

MR. KEIZER:  We'll take that as an undertaking.

MS. HELT:  Undertaking TCJ1.5.
UNDERTAKING NO. TCJ1.5:  TO ADVISE THE ASSUMPTIONS MADE WITH RESPECT TO REDUCTION OF momentary and sustained faults and customers impacted in arriving at the difference in the cost of ownership for this project; AND TO IDENTIFY THE REDUCTION IN CUSTOMER RISK COSTS IN ARRIVING AT THE DIFFERENCE IN THE COST OF OWNERSHIP FOR THIS PROJECT.

MR. LONGLADE:  Okay.  The next one, I am looking at -- let's see here -- should be interrogatory response 2B-AMPCO-6.  I just need a clarification on the response in question A -- sorry, not A, E, which is, will the feeder automation system address feeder restoration issues identified in DJ section 5.5 related to net feeder loading on feeders with a heavy ratio of load to DG capacity.

And if you go down to page 3 of 4, under E, the response is:

"No, the feeder automation program will not address feeder restoration issues identified in section E5.5 of the DSP."

And I just want to be clear that I understand the response here -- and I'm interpreting this to mean that the feeder automation programming will not work on feeders containing high ratios of load to DG capacity, or any ratio of load to DG capacity, and I'm wondering if that interpretation is correct or possibly the question was misunderstood.

MR. SIMPSON:  We may just rephrase to make sure we've got the right understanding.  Your question I think is, will the feeder automation not be applicable in areas with high DG penetration, and for that question our answer is, no, they are separate measures, separate intents, but they could interact, and that would be taken into consideration during detailed design.

MR. LONGLADE:  So at this stage you could not implement feeder automation on any feeder that carried a high ratio of load to DG capacity?  Correct?

MR. SIMPSON:  No, I would disagree.

MR. LONGLADE:  Okay.  That's what I'm getting at here.

MR. SIMPSON:  We would need to take into consideration the presence of DG in that detailed design, but it does not make the feeder automation incompatible.

MR. LONGLADE:  So how -- just briefly, how would you account for that in the design?

MR. SIMPSON:  The sectionalizing in the FA is independent of the requirement for the generation protection monitoring control, and again, they're two distinct, different issues.

MR. LONGLADE:  Okay.

MR. SIMPSON:  Please proceed.

MR. LONGLADE:  Sorry, I -- was that the end of the response?

MR. SIMPSON:  Yes.

MR. LONGLADE:  I guess what I'm getting at is whether or not you somehow have to accommodate levels of DG capacity on a real-time basis in your programming to enable feeder automation to be implemented on feeders with the -- that have the existence of DG on that particular feeder.  And so I'm wondering if the capital programs are interrelated.  In order for feeder automation to work on feeders that have a high concentration of DG capacity, you need the capital program, the DG monitoring requested in section 5.5, or capital program 5.5 in this particular case, or are they completely independent?

MR. SIMPSON:  They're generally independent, but we would look for anything during detailed design.

MR. LONGLADE:  Okay.  I'm looking at Exhibit 2B E7.4, overhead momentary reduction.  And just on a high-level perspective, it looks that this particular program has a lot in common with the design enhancement program, even insofar as similar geographic areas.  And I can't pin that down exactly, because I can't overlap the figures that are provided in the evidence, but can you explain why this particular program is not integrated with program E7.2, design enhancement, particularly since some of the geographic areas of interest appear to overlap, and tree contact is known to be a major contributor of momentary outages?

MR. PARADIS:  The reason why the two programs were kept distinct was to differentiate in terms of the state of the E7.4 program, the overhead momentary reduction.  This is technology we're looking to introduce into our system.  I would anticipate it benefits in reducing the impact of momentary outages.  It is not a technology that has been trialed in our system fully at this state, and that would be one of the main reasons why we kept them distinct.

MR. LONGLADE:  Thank you.

I'm looking at 2B-AMPCO-7, the single question there on page 1.  There is a request for a root-cause analysis identifying the suspected cause of feeder interruptions.

And part of the response indicates that the Toronto Hydro, quote:

"Toronto Hydro does not usually know the specific causes of momentary interruptions."

Which, you know, is understandable.  But since specific momentary outage causes are unknown, and by extension the specific location of the momentary fault is unknown, would it be accurate to state that the installation of a reclosure on the offending feeder at a suitable spot simply has the possible impact of reducing the number of customers affected by the momentary fault?

MR. PARADIS:  It would be fair to state that the intended outcome of the program is to limit the impact of momentary events on those feeders, yes.

MR. LONGLADE:  But there is no guarantee that any of the customers would be affected by the installation of the reclosure -- from a beneficial point of view, I mean -- since the momentary location is unknown, by its very definition?

MR. PARADIS:  Given that the feeders selected for installation and reclosures have exhibited a high number or a relatively higher number of momentaries, it is highly likely that there would be meaningful reduction in the impact of momentary events on that feeder.

The specific location of the installation of the reclosure would be selected to maximize the benefit and consequently minimize the impact of momentary events on that feeder.

MR. LONGLADE:  Based on what premise?  If you do not know where the momentary interruption is, how do you determine whether -- where the most beneficial spot to install the reclosure is?

MR. PARADIS:  For some feeders, we would have information related to tree coverage and therefore information that could lead us to identify areas with higher likelihood of momentary events, which would be one of the considerations at the design stages.  And just generally, greater segmentation of the trunk feeder should result in reduced momentary outage impacts on that feeder.

MR. LONGLADE:  Okay.  So that kind of leads to my next question, is:  What assumption have you made with respect to reduction of asset-related risk costs from reduced -- or increased reliability statistics, from your point of view, with the installation of the reclosures within the calculation of the difference in the cost of ownership?

So for example, you put the reclosure in the middle of the feeder on a kilometre basis.  Are you then assuming that the asset-related risk costs are half of what's to be expected?

Or you make an educated guess on what the impact is going to be on the momentary faults, and then calculate out your difference in cost of ownership on that basis?

MR. KEIZER:  I think that's something we'd have to probably undertake to look at.

MR. PARADIS:  So it's something that would be reflected in the difference in non-asset risk, but the exact values we'll have to verify.

MS. HELT:  That will be Undertaking TCJ1.6.
UNDERTAKING NO. TCJ1.6:  TO EXPLAIN ASSUMPTIONS MADE WITH RESPECT TO REDUCTION OF ASSET-RELATED RISK COSTS WITH INSTALLATION OF THE RECLOSURES WITHIN THE CALCULATION OF THE DIFFERENCE IN COST OF OWNERSHIP.

MR. LONGLADE:  My last question with respect to this program.  Once the reclosure is installed, it would still be reasonable to assume that customers beyond the reclosure are still going to be impacted by momentary outages, potentially.  And would it not be reasonable to assume that at some future point the reclosure operations will still need to be addressed with troubleshooting activity on the feeder downstream of the reclosure?

MR. PARADIS:  Could you restate the question, please?

MR. LONGLADE:  Once the reclosure is installed on a feeder, customers beyond that reclosure are still going to be potentially impacted by momentary outages, because they're downstream of the reclosure, for problems that exist on the downstream side of that reclosure.  And would it not be reasonable to assume that, at some future point, the root cause of those reclosure operations will still need to be addressed with troubleshooting or maintenance activity in the feeder -- on the feeder downstream of the reclosure?

MR. PARADIS:  I think I would have to go back the earlier point that I made, which is the program will not eliminate the possibility of momentary events occurring on that feeder.  It will reduce the impact when they do occur.

So it's fair to say that there is still a likelihood that momentaries would occur, and the specific cause of those momentaries may not, in all cases, be known.

MR. LONGLADE:  Okay.  Let's move on.  I'm looking at 2B-AMPCO-11, "Energy storage systems."

And one of the trigger drivers for this particular program is power quality.  And in the response associated with Question 5:

"Where power quality problems are mitigated from the program, is THESL currently meeting PQ standards in that particular area?"

And the response was:

"With respect to Toronto Hydro there are currently no PQ standards in this area."

I'm wondering if you do not have a power quality standard yet power quality is a trigger driver for the program, how do you determine whether power quality concerns trigger in neither an improvement in general and specifically related to this particular program?

MR. SIMPSON:  So there are no, you know, industry-accepted levels for good or bad power quality for the customers.

There are some requirements in the DSC for THD, I imagine, but we hope in exploring this program to get a better understanding of what's needed at the customer level.  And those may not be satisfied or well defined in today's standards.

I would like to repeat, though, the areas where we're looking to apply energy storage would have area benefits, and that is some of the rationale for not requesting contribution from specific customers.

MR. LONGLADE:  Would customer complaints have a play in this in determining whether or not PQ needs a direction or not?  Or is it strictly on a reactive basis based on what THESL can analyze, for example, voltage imbalance, THD as you mentioned?

MR. SIMPSON:  One of the considerations for the locations will be the area power quality, and that, if you will, qualitative feedback from the customers about their issues.  Other considerations will be those phase imbalances or high DG penetration.  Various factors will play into where to position the energy storage.

MR. LONGLADE:  Okay.  Thank you.  I am done.

MS. HELT:  Thank you very much.

Ms. Grice, do you have anything further?

MS. GRICE:  No, not right now.  I'll hand it over to Hamza.
Questions by Ms. Mortage:

MR. MORTAGE:  Hi, good afternoon, panel.  I just have a few questions.  First off I'll start off with slide number A that was discussed this morning.  So if I understand correctly, this pie graph shows that 33 percent of the assets are going to reach their economic end of life by the end of the CIR period.

MR. WALKER:  Well, in actual fact, this is an age perspective here specifically.

MR. MORTAGE:  So would this be the economic end of life or the book value end of life?

MR. PARADIS:  It would actually be neither of those.  It would be the engineering age of the asset, so expected end of life from an asset standpoint, so it's neither the financial life or the economic end of life.

MR. MORTAGE:  So is it possible to get the same pie graph but for the financial end of life?  The depreciation end of life?

MS. ROUSE:  There are complications to be able to do that exactly, given the way that we integrated our assets upon adopting the useful lives in 2011, with consideration to the THESL Kinetrics study.  Some of our assets were brought in using the remaining useful life and some of our assets are loaded with the useful life, all generates the current depreciation value, but there could be some complexities in generating that graph in such a manner.

MR. MORTAGE:  Well, see, what I wanted to get at is to be able to compare the economic end of life and the financial end of life, so the difference between -- just both those charts.  What about just the economic end of life?  With your, like, best-effort basis?  And the financial end of life?

MR. OTAL:  The results on an economic end of life basis wouldn't cover our entire asset base, so we wouldn't be able to produce a pie chart that would be equivalent to the one you see here for the end of useful life.

MR. MORTAGE:  Okay.  Perfect.  So just on that note, so there's some assets that you could provide the economic end of life?

MR. KEIZER:  I guess I'm losing a bit of the train here of where we want to get to.  I think they've said that they can't give you the pie chart on an equivalent basis on the financial side, so I'm not quite sure what you're now asking for with respect to...

MR. MORTAGE:  So just on that last note, he said part of the assets can be provided on the economic end of life?  That's correct, right?

MR. OTAL:  We can provide a portion -- we can calculate the economic end of life for a portion of our asset base.

MR. MORTAGE:  Perfect.  And then, so on that same portion can you provide the financial end of life so we're comparing apples to apples, the same asset groups?

MS. ROUSE:  I go back to the same point that I provided, so regardless of the asset class it's going to be difficult for us to produce a graph in this manner on the financial useful life.

MS. GRICE:  Can you do a best efforts?

MR. KEIZER:  I think she's already said she can't do it.

MS. GRICE:  I guess we just thought we heard that something could be provided.  It would be a little bit difficult, but there might be some explanation for the differences between the two charts?

MS. ROUSE:  We can definitely take a look on the financial useful-life perspective for a portion of the assets, but I can't guarantee that it will yield a meaningful result, but we could take a look.

MR. KEIZER:  So I think what we would have to do is -- and obviously, as we would, put appropriate qualifications and other things in there to identify whether it's of limited use or comparability.

MS. GRICE:  That would be great.

MR. KEIZER:  And if we can't do it, we'll have to -- we'll explain why we can't do it.

MS. HELT:  All right then.  So just to be clear for the record for the purpose of marking an undertaking, I believe there was an undertaking provided that for some of the assets you could provide and calculate an economic end of life for the portion of the assets, and with respect to the financial life or a portion of the assets, Toronto Hydro will take best efforts to see if it can do it if it's relevant, and if so will provide it or otherwise it will advise us if it's not the case.  Is that correct?

MR. KEIZER:  I believe that's correct.

MS. HELT:  All right.  We'll have that noted as TCJ1.7.  Thank you. 
UNDERTAKING NO. TCJ1.7:  CALCULATE THE FINANCIAL LIFE OF A PORTION OF THE ASSETS AND ECONOMIC LIFE OF A PORTION OF THE ASSETS, ON A BEST EFFORTS BASIS AND PROVIDE IT IF IT IS RELEVANT, OTHERWISE ADVISE IF IT IS NOT RELEVANT.

MR. MORTAGE:  Thanks.  So just for me to kind of clarify, can you just explain the engineering end of life?  Is that --


MR. OTAL:  So I believe that has already been clarified in our interrogatory response to OEB Staff 36, part (b).

MS. HELT:  Are we going to be pulling that document up?

MR. KEIZER:  Sorry, just make sure we get the interrogatory reference.

MR. OTAL:  I can just paraphrase from that answer here that we provided.  So what we say is that the end of useful life for an asset, also known as the useful life or mean life of the asset, is determined by identifying the exact midpoint between the minimum useful life and the maximum useful life, as determined by Kinectrics within their useful life of assets report, which was filed in the EB-2010-0142 application.

MR. MORTAGE:  That's for engineering end of life, right?

MR. OTAL:  Yes.

MR. MORTAGE:  Perfect.  Thank you.  So now I have a few questions on Interrogatory 2B-AMPCO-14, please.  This interrogatory focuses on customer interruption costs.  On line 8:

"Toronto Hydro adopts the $30 per kVA peak load as an event cause that represents customer interruption cost value, and then a $15 per kVA peak load per hour to represent the customer interruption cost value to increasing duration of an outage."

And then you go on, saying that:

"These values, which were discussed at length in Toronto Hydro's 2012-2014 rates, are established through work with consultants as well as analysis of results of reliability evaluation studies..."

I guess my question is just that line 13, "established with work through consultants", is that on the record anywhere?

MR. KEIZER:  Wondering whether or not, just to be helpful from the sidelines here, that -- I understand it may be part of the ICM application.  Maybe Ms. Klein can --


MR. MORTAGE:  As in this work was in the previous filing?

MS. KLEIN:  Yes.  I believe so, though I am looking, actually, over at the panel.  I know that we had a consultant that we did some work with for the feeder investment model, BIS, that worked with us in this area.

MR. OTAL:  That's right.  There was a BIS report that was submitted with our previous ICM application.  They basically did a full review of our various tools, decisions support systems, including the FIM, that were used as part of that application and as part of our planning.

MR. MORTAGE:  Okay.  Perfect.

You keep going on, and then it says:

"...as well as analysis of the results of these studies."

So just the table below mentions these five studies, and I think our second question was:
"Please provide a full copy of these studies."

I just wanted to get at where these dollars per kVA come up.  So if we look at the first one, which is "Interruption costs, Netherlands," your table I says 8.712 and 6.579.  And if you go to, I guess, attachment -- the first attachment of (b), you refer us to page number 4 and the attachment starts at page 14.

So my question is:  Where are those values in the studies?

MR. OTAL:  So when we're performing this type of comparison, what we're trying to do is we're trying to interpret and approximate the results from these various studies such that they can be aligned to the architecture that we've developed within the feeder investment model.

So within our architecture and through the research that we've done, we established an event cost and a duration cost.

And so when we go through each of these studies, we will go through a process, basically, to look for specific variables and perform an alignment to the variables that we have in our architecture, which would be those event and duration cost values.

MR. KEIZER:  Sorry, your question, though, is:  Where is page 4?

MR. MORTAGE:  Yeah, that's part of it.  Yes.

MR. KEIZER:  We'll have to clarify as to whether it's been -- whether the labelling is correct on the table that appears in the interrogatory.

MR. MORTAGE:  Okay.  Perfect.

MS. HELT:  I don't take it that needs to be an undertaking; you'll just clarify that?  Thank you.  

MS. MORTAGE:  Perfect.  So just on your reply, I guess what this is is the analysis of the results of these studies?  That's what you've referred to?  I'm just reading from the same IR, line number 13 on page 1.  It says:
"Through work with consultants, as well as  analysis of the results..."

So that's what you're talking about, the analysis of those reports.  So do you have that analysis of those reports?

Because the issue is I went through all these reports and where the references say -- and all these numbers that are on the table aren't in the reports, so I just really want to understand how those numbers that are on the table came up from the reports.  Because the reports don't mention these numbers.

MR. KEIZER:  Maybe that is something we need to give an undertaking for.

MS. HELT:  All right.  We'll have that as JC –- no, TCJ1.8.
UNDERTAKING NO. TCJ1.8:  TO RECONCILE THE NUMBERS THAT APPEAR IN THE INTERROGATORY TABLE RELATIVE TO THE PAGE NUMBER REFERENCED IN THE PDF, FOR THE FIVE REPORTS.

MR. KEIZER:  And the undertaking is to reconcile the numbers that appear in the interrogatory table relative to the page number referenced in the PDF?  Is that the idea?

MR. MORTAGE:  Yes, for the five reports.  And then I guess so one last question.

Given that you've reconciled these numbers from those reports, how did you come up with the 15 and 30?  Because none of those reports really had 15 or 30.  How you use those reports to come up with the $15 and the $30, help me maybe understand how.  They're pretty round, solid numbers.

MR. OTAL:  So I think we answered this question the previous ICM application, but I'll go through it again.

Basically, it was a process in which we first needed to determine what's happening to customers when an outage takes place and develop an architecture around that.  And that's where we came up with an event component of the outage and a duration component of that outage, and understood basically what's happening in the customers during those two components or two stages of the outage.

And then the next step was to compare, essentially, or see how we would align, basically, to other reports or other valuation studies.  So essentially this is a set of reports that we -- we looked at, essentially, and the numbers that we selected through our investigation all fell within the range of the studies you see here, in terms of the event component and the duration component.

MR. MORTAGE:  Perfect.  So this ties into the work with the consultants that was filed in the previous IRM?  ICM, sorry?

MR. OTAL:  So this would have also been covered as part of the BIS report that was submitted as part of that previous application.

MR. MORTAGE:  Is it possible to file that BIS report on the record for this proceeding, just because we're going to be referring to it later?

MR. KEIZER:  We can do that by way of undertaking.

MS. HELT:  Undertaking TCJ1.9.
UNDERTAKING NO. TCJ1.9:  TO FILE THE BIS REPORT.

MR. MORTAGE:  And just one final question.  On page 3 of same interrogatory, AMPCO No. 14, part (c) talks about other utilities using the customer interruption costs.  And you've stated that you are aware of other utilities, but you -- but it can't confirm the utilities' exact values -- exact use, values or methodologies.

Just on the first part, that have been used by other utilities, do you know which other utilities have used that?  Like, the names?  Maybe by way of undertaking?

MR. OTAL:  So, I mean, broadly we know that there's, for instance, U.S. utilities that are, you know, using this type of methodology.  The only example I can think of would be Portland General Electric.

MR. MORTAGE:  Would that just -- yeah, that's the only one?  Yeah, I guess so.  Okay.  Thank you.

MR. KEIZER:  I guess the question is -- I don't think he said that was the only one.  I think what he said was there are other utilities in the U.S., but the only one he could think of at the moment was Portland General Electric.

MR. MORTAGE:  That's fine.  Thanks.

MS. GRICE:  Okay.  And I'll just be asking -- I've just got a few more questions.  I'm sorry, we've gone a bit beyond our time allotment.  Is that all right?

MS. HELT:  That's okay.

MS. GRICE:  Okay.  My first question is School Interrogatory No. 35, and in that interrogatory it talks about why spending is less on two of the projects, 6.9 and 6.10, related to network vault renewal and network unit renewal programs, and the response indicates that it's tied to resource constraints.  And I just wondered if there are other programs that you could identify that also are subject to resource constraints in the 2015 to 2019 time frame.


MR. PARADIS:  So in general programs where there's a requirement to work with lead (ph) and programs associated with our station assets are generally facing some level of resource constraints, and that's something that we're looking to address over the CIR period through our staffing plans, which I believe will be addressed by a future panel, a later panel.  So those specific programs that require this type of work would in general have some level of constraint.

MS. GRICE:  Can you just remind me of programs working with lead?  I just...

MR. PARADIS:  So the programs that are executed in the downtown ward generally would involve some level of lead work.

MS. GRICE:  Okay.  Thank you.  And then I have a question related to AMPCO No. 1.  And in the response THESL provided a list of all of the programs that will ultimately directly affect SAIDI.  And I just wondered if there is also a list of programs that directly affect SAIFI, if it's possible to get a listing of those?  Or maybe it's already on the...

MR. PARADIS:  Yes, we can provide that.

MS. GRICE:  Thank you.

MS. HELT:  I'm sorry, I was just speaking with Mr. Garner.

MS. GRICE:  We just have an undertaking, and it's just to provide a list of all of the projects that directly affect SAIFI.

MS. HELT:  Thank you.  That will be Undertaking TCJ1.10.

UNDERTAKING NO. TCJ1.10:  TO PROVIDE A LIST OF ALL THE PROJECTS THAT DIRECTLY AFFECT SAIFI.

MS. GRICE:  Okay.  Thank you.  The rest of my questions relate to the specific projects under the system renewal category.  So the first reference is Exhibit 2B, section E6.1, page 13.

Okay.  So for each of the programs -- and this was mentioned in the presentation this morning -- THESL has provided a mapping of the historical spending to all of the programs.  You've provided the future spending, and on this particular page you provided the program asset replacement units for the period 2015 to 2019.

And I just wondered if we can next turn to page 44.  You provided a list of the replacement assets, and you've got four different types of switches, three transformers, and three different categories for cable.  So I just wanted to sort of break this down a bit and understand better what the unit replacements are.

If we look at switches, the four types that you have listed here, and you're replacing them with SCADA switches, would the unit cost be relatively the same and comparable between the four switches to replace them?

MR. PARADIS:  I'd have to verify that information, but it's something that would be available.

MS. GRICE:  I'll just keep going then, because I just have more questions along the same line.  So the same thing with the transformers.  And it looks like the first one you're replacing a non-switchable submersible transformer with a switchable, and then the next two types you're replacing like for like.

Again, I was just wondering if the costs for that type of replacement are similar between the three transformer types, and then similarly the same thing for the cable replacement.

MR. PARADIS:  I think it's best if we just actually get the information specifically and then report back on that.

MS. GRICE:  Okay.  So --


MS. HELT:  So then should we have that marked as an undertaking?

MS. GRICE:  Yes.  I just wanted to just expand on the undertaking of where I'm trying to take this.  So on page 13 you provide the full amount of replacement quantities for switches, transformers, and cable.  We now through our discussion have broken those down into four switch types, three transformers, and three cable types.  And what we're trying to understand is the unit cost comparison with historical spending versus the proposed spending.

So the undertaking gets a little more complicated than that.  We would like to see what the unit costs are historically, as well as during the capital plan for 2015 to 2019.

MR. KEIZER:  Sorry, when you say historically you're talking about 2014?

MS. GRICE:  I'm sorry, 2010 to 2014.

MR. KEIZER:  So you want to know the costs of the switch in 2010 --


MS. GRICE:  Well, we'd like to know how many units of each type of switch transformer and cable were replaced each year, 2010 to 2014, and the cost, and then have the same information for 2015 to 2019, and what we have right now is a rolled-up quantity for switches, transformers, and cable, so we would like that broken down into the types and then the costs associated with each year.

MR. KEIZER:  I think just -- a question, I guess, about the doability of that.  Is that something that's possible, or something that's going to take an extensive period of time?

MR. PARADIS:  It would take an extensive period of time.  The costs of the assets themselves is probably something we could get.  The costs associated with the circumstances of the specific assets that were replaced, that would be extremely difficult.

MS. GRICE:  I guess I'm just having trouble understanding why it would be difficult.

MR. KEIZER:  Sounds like you want us to go back and reconcile the equipment in the projects in the past, broken down by each component part.  And the question is whether or not it's recorded that way or the records are necessarily kept that way or whether they have to be -- go through and start breaking pieces apart to make that determination.

Actually, I guess I'm struggling a little bit with respect to the relevance of what the breakdown between switches, transformers and cables in 2010, '11 or '12 actually have to do with 2015 to '19.

MS. GRICE:  I think the 2015 to 2019 program builds on the ICM capital work.  And that was -- that's been stated in the evidence in several places, how it's consistent with and builds on.

So in order for us to understand, you know, what you've spent historically and the reasonableness of the spending over the CIR period, we need to understand how the historical costs -- what the unit costs were for that work.

MR. KEIZER:  I guess on the issue with respect to the past, I mean, the ICM is not '10 and '11.  So that's the one issue.

I guess the other question is I'm trying to understand or reconcile my mind in terms of whether this is -- a build-up of cost from the bottom is an element of some form of true-up.  And I guess I'm not sure that that's something that we necessarily have in that configuration or that format.

MR. PARADIS:  That's correct.  So the tracking of activities and the activities themselves occur on a job basis, and the circumstances of each job will vary greatly.

And so reconciling different jobs at that level will be extremely challenging, yeah.

MS. GRICE:  I guess -- can you help me, then?  How can I look at unit costs -- and if we just say over the IRM time frame, so 2012 to 2014, how can we compare the unit costs of the work during the IRM period -- or, sorry, ICM period to what's being proposed in the application?

MR. KEIZER:  Your concern is that we're actually now paying more for what we're switching out than we would have paid in 2012, let's say, for a switch?

MS. GRICE:  I guess my concern is the same as yours, that -- in that I think THESL is going to be doing some sampling of projects and looking at contractor costs, unit costs, to determine how -- it's one of your metrics, I'm sorry.  I don't recall...

The construction efficiency metric, where you're going to be looking at your internal unit costs compared to contractor unit costs.  So just to fill out the record in terms of what the historical unit costs were, that's what we're looking for.  And we're actually looking for that in a lot of the different program areas, so this was just my beginning.

MR. KEIZER:  You're looking at that by asset?  That's where you originally started your question.

MS. GRICE:  No, it's within your programs, so within E6.1.

MS. KLEIN:  Ms. Grice, sorry, we're just trying to get a little bit clearer on what you're asking for here.  You're looking for historical unit costs for which programs in particular?

MS. GRICE:  It starts out I was looking for E6.1, the underground circuit renewal project.

And the rest of my questions, I was going to ask the same thing in E6.2 related to paper-insulated, lead-covered piece-out and leaks, because you provide the kilometres for the years 2015 to 2019.  So we would be looking for the historical kilometres there as well.

Section E6.4, the overhead circuit renewal project, I actually have a few questions there regarding wood poles, but essentially the same thing, to have the number of wood poles and concrete poles, overhead switches and transformers that have historically been installed each year and the cost per year.

MS. KLEIN:  I think the panel can probably speak to these questions.  There are certainly some facts about how we have tracked things historically, as well as, I believe, the difference between certain asset-based programs versus geographically-based programs that maybe they can speak to.

MR. WALKER:  I think there's a bit of confusion around what you're asking in terms of unit costs.

You mentioned our contractor metric.  And when we look at that, we have to break apart our project into comparable units to what the contractors bid on.  And those units aren't asset units; they're a combination of material, labour, they're overhead costs and so on.

But in terms of the projects themselves, we don't break things down to a per-asset cost.  We construct things in a way that it's a blended cost across a number of assets that are tracked in a logical way in which an installation is built.  So it's difficult for us to break it down in that sense, if I'm understanding what you're asking for.

MS. GRICE:  So do you have a contractor unit cost to replace a pole?

MR. WALKER:  Yes, we would.

MS. GRICE:  That's sort of the way that I'm envisioning it, is looking at your programs.  So if we looked at the pole replacement program that you have under overhead -- overhead circuit renewal, on page 13 of the evidence you give the number of poles that you've replaced for the years 2015 to 2019, the number of overhead switches, and the number of overhead transformers.

So when I was thinking of unit costs, I was thinking there must be a unit cost to replace a wood pole, a unit cost to replace a concrete pole, a unit cost to replace an overhead switch, and a unit cost to replace an overhead transformer, and that possibly your contractor unit costs would be developed in the same way.

MR. WALKER:  But they're not, really.  The contractor unit cost, as I mentioned, it encapsulates kind of like an assembly.

But when we do internal work, we don't track it in the same way.  We don't do it that way.

So we would have costs associated in a project with the installation of all of the poles, and then we would have costs associated with the framing of all those poles, and so on.  We don't have it broken down to a unit.

MS. GRICE:  Okay.  But in terms of looking at your evidence related to your unit costs, if we look at page 13 -- and you've got the number of poles 2015 to 2019, and if I asked you to break out the wood poles from the concrete poles and then the dollar value for each of those, would I not get a unit cost for the years 2015 to 2019?

MR. WALKER:  Well, you could, I suppose, do the math and come up with a number but it isn't a standard unit cost.

A contractor, when they bid, they have to account for what they think the volume of units they're going to install are going to be, and they have to set their costs in such a way that they can recover their -- you know, their own costs and make some money on that.

In our case, we don't do it this way.  We charge the true cost of installing an asset.  And that can vary significantly depending on the circumstances of that installation.

So if we're installing a pole in the heart of downtown Toronto, that's going to be a different cost than if it's in the northern part of Scarborough, as an example.
Questions by Mr. Rubenstein:

MR. RUBENSTEIN:  Can I ask a question?  How do you guys measure your unit costs of certain activities?  What metric, or how do you do it?

I'm assuming at some level you have determine -- I don't know -- it depends what granular it is, but that you're becoming more productive in doing a certain activity this year as you did last year.  How do you guys do that?

MR. WALKER:  The way that we manage our work is we have a design estimate that takes into account the specific requirements for that particular job.  So we take into account the location that that installation is being done, the circumstances, how many circuits are going to be involved in the construction, whether there's parking restrictions, and so and so on.

Our designers then put together an estimate that takes into account those specific requirements and we measure ourselves against that design estimate, and it's going to vary depending on the circumstances.

MR. RUBENSTEIN:  So am I correct you don't actually do it -- and I understand the reason of why you're saying you don't do it, but you don't actually say, Costs us this amount -- this much this year to do poles, you know, to replace a pole, you know, in 2015 and 2016, we hope to have it less, you don't do it -- it's all sort of an individualized estimate per project.

MR. WALKER:  It's dangerous to try and look at it that way, because each job has its own circumstances, and there are jobs where the cost of installing a pole is significantly different than other jobs.
Continued Questions by Ms. Grice:


MS. GRICE:  Can I try a simpler one?  I just want to make sure I'm fully understanding what you're saying.  So if we go to the PILC cable one, E6.2, and you've provided the historical spending 2011 to 2014 on page 4.  We have got the future spending, 25 to 2019, and then on page 5 you provide the kilometres of PILC cable that you're going to be installing over the time frame.

If I took the dollar value for year, for each of those years, and divided by the kilometres, I think what you're saying is that the dollars per kilometre is not necessarily a unit cost?

MR. WALKER:  It would not be a consistent cost.  It would be an average, but it would not be consistent for any particular job.

MS. GRICE:  And if we looked at -- and then for that same program we looked at the historical kilometres and dollars, would that information be valuable in assessing the reasonableness of the proposed spending?  Would it tell us that?

MR. PARADIS:  I don't think it would change the previous answer, in the sense that the circumstances of those specific jobs would also have been different from the ones that are planned going forward, and maybe to add a little clarification, in this program there are also instances where the work involves essentially a patch of a cable which would have limited associated cable replacement quantities, and also work where we are actually replacing portions of cables, and obviously those situations would have higher cable kilometre numbers associated with them.  So there's no consistent way of comparing activities between years.

MS. GRICE:  And how about an average comparison?  If we took a historical average compared to the average of the future planned spending period?

MR. WALKER:  Again, if we just look at an average, I don't think it's a meaningful number, because the mix of work within a portfolio or a program in a given year would not be consistently the same year over year.  It would be a misleading number to look at it that way.

MS. GRICE:  Okay.  So -- I thank you for your responses, but is there any way that we can get the information, the kilometres, historically per year, and the dollars, in order for us to do some analysis?

MR. KEIZER:  Talking about this one particular job?

MS. Grice:  I would like to go beyond this one particular job, but if we could start there.

MR. KEIZER:  So you want the dollars and the kilometres?

MS. GRICE:  For 2010 to 2014 by year, the dollars and the kilometres.

MR. KEIZER:  For PILC?

MS. GRICE:  PILC.

MR. KEIZER:  I guess I'm still struggling with the relevance of what you're asking for, I guess.  We've already heard from the witnesses that it's not directly comparable, it's not a meaningful number, and it doesn't provide the insights with respect to what happens on a particular job design or particular execution.

MS. GRICE:  We feel it is relevant, and we would like to see the numbers if we could, please.

MR. KEIZER:  If you could just -- sorry.  Just give me a moment.  We're not going to give that undertaking or provide that information, on the basis of relevance.

MS. HELT:  All right.  Then that will be noted as a refusal, then, on the transcript.

MS. GRICE:  Okay.  Then there's probably not a lot of point in me going program by program.

Actually, if it's okay, I'm going to go through what I would like to have for the programs, and you can make your refusal or not.  So I would be looking for the same information with respect to the underground circuit renewal program, which is project E6.1, to get the historical switches, transformers, and cables by type and dollar amount for each of those years, and then the dollar amount for 2015 to 2019 for each of the asset types.

MR. KEIZER:  Why don't you go through your list?  That's the -- are there any more?

MS. GRICE:  Yes, I was looking for the same information with respect to overhead circuit renewal, section E6.4, to get a breakdown of the assets on page 13, poles, overhead switches, and overhead transformers, broken down into wood and concrete poles, overhead switches, and transformers for the years 2010 to 2014, the number per year, and the dollar value per year, along with the dollar value for each of those assets, 2015 to 2019.

I was looking for the same information with respect to E6.5, and actually, this one is a little different, because it's a new program.  There was no spending in 2010 to 2014, but on page 10 you provide a list of the assets and the number that you were going to do in each year, 2015 to 2019, and I was looking for the same table, but with the dollar values put in.

So I'm wondering if that's something you could provide.

MR. KEIZER:  Well, why don't we keep going?

MS. GRICE:  Okay.  I was looking for the same thing for rear-lock conversion.  Page 5 provides a listing of the assets and the quantities for 2015 to 2019.  I was looking for the same table for 2010 to 2014, with the quantity of assets, and then the same tables provided with the dollar values for each of those assets by year.

MR. KEIZER:  So that's slightly different.  That's not by unit basis that you were speaking about?  You just want this table on the historical basis?  Is that what you're saying?

MS. GRICE:  On a historical basis as one table, and then the next table is to get the dollar values for each of those assets.

MR. KEIZER:  Oh, along the same lines that you were asking for before.

MS. GRICE:  Yes.

MR. KEIZER:  Okay.

MS. GRICE:  Same thing with box construction conversion.  That's program E6.7, page 9.  There's a table there with all of the assets and the quantities for 2015 to 2019, looking for the assets, numbers, the quantities for 2010 to 2014, and the dollar value for each of those assets historically, and for 2015 to 2019.

Now, just based on a comment you just made, would you be willing to provide just the quantities historically and not the dollar values?

MR. KEIZER:  What I would do, to be honest with you, is if you've provided the listing, I think I would object to them all on the basis of relevance.  And to the extent that after reconsideration we could provide anything to you, we would, but otherwise if we sustained our objection on the basis of relevance, we would not provide it.

MS. GRICE:  If I filed something that showed – is that what you...

MR. KEIZER:  No, I'm not telling you do anything, really.  All I'm saying is we're going to on the basis of relevance, because I'm not sure, quite honestly, with respect to the total tables, without consulting with Toronto Hydro, as to whether it's something that fits within the same ambit that you were already looking for, that we did object on.

So I would think that you should register your questions on the record.  We're going to object on the basis of relevance with respect to the per-unit aspects of this, where it would enable us -- or given our position with respect to the per-unit issues that we've already laid out.  And if there are elements that we think that are relevant, then we could provide those, but if they're not relevant we won't provide them.

MS. GRICE:  Okay.  I'll keep going.

Program E6.8 is a SCADA-MATE R1 switch renewal, on page 6:

"Provide an asset table with the quantities for 2015 to 2017."

Again, we would be looking for the quantities for 2013 and 2014, where you had historical spending split between the asset units and then the associated costs for each of the years.

E6.9, network fault renewal, same thing.  Page 12:
"The assets are provided: vaults, roofs and underground network units."

We would be looking for the historical quantities for the same asset groups for 2010 to 2014, and the associated dollars per year for the whole thing, I guess, for the whole thing, 2010 to 2019.

Here's a question that I have that maybe you can answer, and that has to do with E6.10, which is the network renewal program.  On page 4, you provide the network unit assets that are going to be replaced, and I understand there are two types of network units, a fibre-top network unit and semi-dust type network unit.  And I wondered if we could get table I broken down between the two asset groups.

MR. KEIZER:  Why don't we stop there?  Okay.  Just so we can make kind of some semblance in the record, so to date you've asked for a series related to a number of projects, I think all driving towards the same end, which is to establish some unit costs, all of which we've actually objected to on the basis of relevance.

You now come to this table, and you're asking for the breakdown between -- is there any distinction between the type of network unit that is being employed and the breakdown of that number?  Is that the main question?

MS. GRICE:  Well, yes.  And I guess the -- that is something that we would like to see, is the breakdown between the two unit types.

MR. KEIZER:  Is that something that technically we can do?

MR. PARADIS:  Yeah.  We can do that.

MR. KEIZER:  That would be for the table 1 in part E6.10.2 of Exhibit 2B, that -- to provide that table, breaking down the network unit type into the -- I guess the types that are going to be employed?

MS. GRICE:  Yes.  And if I could just ask -- sorry.

MS. HELT:  I'll note that as an undertaking TCJ1.11.
UNDERTAKING NO. TCJ1.11:  FOR TABLE 1 IN PART E6.10.2 OF EXHIBIT 2B, TO PROVIDE THAT TABLE, BREAKING DOWN THE NETWORK UNIT TYPE INTO THE TYPES THAT ARE GOING TO BE EMPLOYED.

MS. GRICE:  I just wondered if you could speak generally on the replacement cost for the two different types of units, if there's a significant difference between the two replacements.

MR. KEIZER:  Sorry, can you just repeat that last part?

MS. GRICE:  I was just wondering if the replacement costs for the two different types of units varied significantly.


MR. PARADIS:  In general, as we mentioned earlier, costs would vary per location depending on the specific arrangements, but they should not vary substantially, no.

MS. GRICE:  Thank you.  And I'm getting to the end.

I think the last program I had was E6.14, which is the power transformer renewal project.  In the evidence, THESL states:

"24 transformer replacements are planned between 2015 and 2019 at 22 municipal stations."

So approximately four to five per year.  We would like to see the quantities that have been installed from 2010 to 2014 and then the associated unit costs for each of those years.

And aside from that, when -- sorry, I just mentioned that there were four to five replacements per year, going forward, and that was the pace of replacement.  Could you just comment on the pace of replacement historically?

MR. KEIZER:  I guess I'm just looking to the panel.

In terms of being able to determine numbers, not unit cost but transformers that have -- sorry, I want to make sure I have the right evidence reference.  Could you give me the evidence reference again?

MS. GRICE:  Of the four to five transformers per year?

MR. KEIZER:  Yes.

MS. GRICE:  Okay.  It's in an interrogatory, but I essentially was just taking the 24 divided by five, is sort of four to five per year.

And then there is an interrogatory.  It's Board Staff 47, part (d)(i), where it says:

"Toronto Hydro has paced the power transformer replacement at a reasonable rate of four to five transformers per year."

I was wondering what the historical pace of replacement has been.

MR. KEIZER:  Can you answer on the historical pace?

MR. SIMPSON:  We should check into that.

MR. KEIZER:  So we'd have to provide an undertaking with respect to that.

MS. HELT:  That will be Undertaking TCJ1.12.
UNDERTAKING NO. TCJ1.12A:  TO PROVIDE HISTORICAL PACE OF TRANSFORMER REPLACEMENT.

MS. GRICE:  I'm done.  Thank you.

MS. HELT:  It's now quarter to 4:00.  I think we should take a short break for the court reporter at least.

Mr. Rubenstein, how long do you have for this witness panel?

MR. RUBENSTEIN:  15 minutes.

MS. LONG:  And I understand Board Staff, Mr. Zwarenstein has approximately 30 minutes and Ms. Kwan maybe five minutes.

MS. HOBBS:  Sorry, CUPE is also going to have some questions.

MS. HELT:  How long will you be?

MS. HOBBS:  I want to say half an hour, but I don't want to underestimate.

In the alternative, I'm not here tomorrow.  I have a conflict.  I could also agree to put in our questions, both on 2B, to this panel, and then we have some other questions that would fall to the third panel.

If we don't time to get through our questions today, certainly I won't be here for the third panel, we would be able to put them in, if that would be okay, with the other parties, to put them in in writing.  Or we could go next.

MS. HELT:  I have no objection.  I'm conscious of the time.  We have today and tomorrow.  We have three panels tomorrow.  I understand there are not a lot of questions for the second or third panels, but there are certainly a lot of questions for the fourth panel.

MR. KEIZER:  We would be okay with questions in writing.

MS. HELT:  Yes?  Does anyone object to CUPE filing their questions in writing?

All right, then.  I think that would be acceptable.

MS. HOBBS:  Thank you.

MS. HELT:  Why don't we take a short break?  We'll see how it goes.  I understand that the court reporter could sit late today, beyond 4:30, which is the normal stop time, to 5:00 or 5:30.

I suggest we stay to get through panel 1.  Why don't we take a break until 5 to 4:00 or 4:00 o'clock?  4:00 o'clock makes more sense.  Thank you.
--- Recess taken at 3:44 p.m.
--- On resuming at 4:00 p.m.

MS. HELT:  ...with panel 1, and then we can continue on with witness panel 2.  After that the plan is to continue until 5:30 p.m. today.  I understand from all of the parties and the witness panel and the court reporter everyone is available to stay until 5:30 today, so we will do that.

We will also commence tomorrow morning at 9:00 a.m., just to try and ensure that we do finish this technical conference at the end of the day tomorrow.  Board Staff will be sending out an e-mail to all of the participants at the conclusion of today to indicate that we are starting tomorrow morning at 9:00 a.m.  I know that some counsel have already left for today.

Just one other point, and I think it's important to put on the record and remind parties that the purpose of a technical conference is really to ask questions of a clarifying nature with respect to the interrogatories already asked.  And so to the extent possible that is to be kept in mind when formulating the questions and asking the questions.

All right then.

Mr. Rubenstein, I understand you have some questions now?
Questions by Mr. Rubenstein:

MR. RUBENSTEIN:  Thank you very much.

Panel, if we can turn to page 8 of the presentation of this morning.  I just want to clarify what this represents.  Am I correct that what this is showing is that currently 26 percent of the asset baser is past its end of life by 2015?

MR. WALKER:  That's correct.

MR. RUBENSTEIN:  And by asset base do you mean the value of rate base?

MR. WALKER:  It actually represents replacement value, so on a replacement value basis 26 percent are past end of life.

MR. RUBENSTEIN:  So you're taking into account what the cost is to replace every single asset, and that's sort of 100 percent of the circle, and then you're dividing it up in the three categories you have?

MR. WALKER:  That's correct.

MR. RUBENSTEIN:  All right.  Thank you very much.

Couple of follow-ups from the discussions that happened this morning.  The first one is with respect to the discussion you previously had with Ms. Grice about unit costs.  And I want to understand how you're actually forecasting the costs for 2016, '17, '19, '19.  And my understanding is for most of the projects you don't have detailed design for any of the projects, because they're three or four or two years out.  Am I correct?

MR. PARADIS:  We typically try to design projects 18 months in advance of execution, so we wouldn't have detailed design for projects beyond that, and in some cases we wouldn't have detailed design completed for even earlier projects.

MR. RUBENSTEIN:  And for the projects that you don't have detailed design, do you know -- sorry, for the projects that are in your application that you're going to do between 2015 and 2019, do you have for each of those an identified project?  I understand they're not detailed design, but some idea of the location of a specific project?

MR. PARADIS:  So our long-term planning process is to look at the system broadly and asset groups broadly and define the programs first, and as we work to define those programs we establish required levels of work to maintain the overall asset base performance and demographics, and as we get closer to the expected execution time frame we make sure to account for the latest information related to those systems and assets in informing our decision as to where we will invest in a prioritized manner.

MR. RUBENSTEIN:  So then for some projects you will look at all your analytics and all the asset information, you'll say we need to be doing about -- we need to do these many over a certain amount of time and we're going to do five this year, six the year after that, something like that?  Is that how it works?

MR. PARADIS:  So it's directional.  We would look at broad investment levels, we wouldn't break it down into, like, number of jobs or number of units.  It would be an overall assessment of the required intervention magnitude in, you know, that specific asset base.

MR. RUBENSTEIN:  So then how, if you don't have unit costs to do a certain project, are you forecasting into the future when you don't have a specific project in mind, when you know you need to do a certain amount?  How are you determining the budget?

MR. PARADIS:  So the approach we take is we of course look at our historical levels of investment, and we also use some level of engineering judgment to approximate at a high level what the cost for the program for that year would look like.  That gets refined once we start looking at the specifics of individual projects as we get closer to execution.

MR. RUBENSTEIN:  There was some discussion earlier this morning about -- you know, you were asked by someone to -- I forget -- I'm sorry, I forget the party, but how many labour hours are you -- internal labour hours are you forecasting for the future, and essentially the answer is, well, we -- you know, we don't have those details to that level, obviously, at this time.  And I understand that.  But how then do you determine the labour component for the four-year projects from 2015 to 2019?

MR. PARADIS:  So in general terms what we would do is look at historical relative assignment of cost to labour for certain activities and assume something similar for future work, where the ratio of labour to expenditure in the program remains similar.

MR. RUBENSTEIN:  So at a high level the expectation is for any given activity it's roughly the same labour cost?

MR. PARADIS:  Outside of knowing the specifics of the project which would drive the requirements, at a high level it's generally the assumption, yes.

MR. RUBENSTEIN:  And are you making any assumptions for inflation or labour cost increases?

MS. ROUSE:  In the other category we've made a bucket for inflation for 2016 to '19, and that represents inflation on all the programs.

MR. RUBENSTEIN:  Okay.  That was my next question, so thank you, that's what I thought.

[Technical interruption]


MS. HELT:  Okay.  We are now disconnected.  Apologies for that.  Please carry on.

MR. RUBENSTEIN:  This morning in conversation with Mr. Brett, Mr. Brett was trying to understand the relationship between capital spending and O&M spending.  Do you recall sort of generally that conversation this morning?

MR. PARADIS:  Generally.

MR. RUBENSTEIN:  What I understood from your responses to him is there's not much -- I don't want to say immaterial, but there's not much of a relationship between the capital spending you're proposing over the test period from 2015 to 2019, and the O&M.

It seemed to me that what you were saying is there is a relationship, but it's going to be longer out into the future because of the backlog of work that you have.

Am I generally in the ballpark of what the conversation was?

MR. WALKER:  Yes that's correct.

MR. RUBENSTEIN:  So one thing I'm interested in understanding is the financial savings for ratepayers in the future for the capital investments you're making now.

And I understand -- it seemed to me there's not much within the test period, but there's going to be later on.  When you determine the capital spending that you're going to do, do you take into account what the future O&M spending is going to be?  Forget about five years from now, you know, 10 years out or 15 years out.  Sort of what the net present -- you can do with respect to sort of a net present value analysis?

MR. PARADIS:  In broad terms, again, the potential long-term savings in OM&A associated with replacement of assets isn't accounted for in our decision-making process.

Those benefits, as they are realized, would be identified through our maintenance planning activities.  And so the maintenance planning process is something that occurs annually, and through that planning any associated benefits to OM&A expenditures would be captured in the requirements for the coming year.

MR. RUBENSTEIN:  But you're making an investment decision, you don't say:  We're going to spend a certain amount of money on this certain program, and we think over the next 10 years this is going to be the reduction in O&M?  You don't do that?

MR. WALKER:  We account for the potential improvement within the business case for that particular investment.  That's the risk cost that we're reducing.

But for the actual OM&A costs, the corrective and emergency maintenance costs, we use historical trends.  It's difficult to project which specific asset class is going improve by what amount, but we do see, you know, pretty significant value in the trending year over year.  We can tell how effective our program is being by how our maintenance costs trend.

MR. RUBENSTEIN:  But that's on a historic basis?

MR. WALKER:  If it's a trend it's based on historic.  That's correct.

MR. RUBENSTEIN:  Can I ask you to turn to 2B-SEC-33.  Also have handy or ready to be handy 2B-SEC-23.

So in Interrogatory No. 33 we had asked you why you had not undertaken any expenditures to replace underground legacy infrastructure in the past five years.

Part of your response –- or at least as I understand it -- is you used to be on a reactive basis with this asset class, and now you're on a proactive basis; correct?

MR. PARADIS:  That's correct.

MR. RUBENSTEIN:  If we turn to Interrogatory 23, we had asked you to provide, showing all the asset classes that the applicant manages on a run-to-failure basis at the time of your last rebasing application, the ICM application and the custom IR application.

And you say:

"Toronto Hydro manages all asset classes on a proactive basis per its asset management process detailed in section D."

Section D on the distribution system plan, you mentioned a few things you do on a passive basis.

If we go back to 33, is this one of the asset classes?  From Interrogatory 33, this is the underground legacy infrastructure -- let me put it this way.

It seems to me there is a change.  You were running this on a run-to-fail basis previously, and now you're not?

MR. PARADIS:  I think the point here would be to say that it's not that we went from a run-to-fail approach to a proactive approach; it's that performance led us to identify these assets as being problematic, and triggered our consideration of the investment as a program, rather than awaiting deterioration in performance or additional failures.

MR. RUBENSTEIN:  Is there a difference in how -- what you would define a run-to-fail and reactive?  Or is that the same thing?

To me, it's the same thing, but maybe I'm incorrect.

MR. WALKER:  I wouldn't say they're exactly the same thing.  We may have assets that we maintain that still incur a failure, and that requires a reactive response.

Run-to-fail would mean that we would not do any maintenance, in principle, other than perhaps a general inspection and until such time as they failed.

So they're not quite the same thing.

MR. RUBENSTEIN:  I want to jump back to the discussion you had with Ms. Grice.  She was asking about unit costs, and you were saying:  Well, we have it for contactors, but we don't do our own internal unit costs analysis; am I correct?

MR. WALKER:  That's correct.

MR. RUBENSTEIN:  Are you able to provide, with respect to your contractor, the various activities that have a unit cost analysis and the unit costs for 2015?

MR. WALKER:  If you're asking for the breakdown of activities, that's something we can provide.

MR. RUBENSTEIN:  Let me just make sure I understand what you mean by "activity."  There are certain activities you have on a unit cost basis that your contractor provides you with a unit cost for, that you accepted?

MR. WALKER:  Yes.

MR. RUBENSTEIN:  And then I would also like the value.  What is that unit cost for 2015?

MR. WALKER:  I don't think we can provide the value, for confidentiality reasons.

MR. RUBENSTEIN:  As in?

MR. WALKER:  These are competitive bid costs, and we can't be showing one publicly what those numbers are.

MR. RUBENSTEIN:  I'm not talking about making it public.  I would understand why you would —- and I would not object to it being provided on a confidential basis.

MR. KEIZER:  Sorry, so you're looking for the unit costs on a contractor basis based on particular activity; is that... particular activity?

MR. RUBENSTEIN:  I just need it to be for -- if you have multiple contractors, each one blended.  I'm more interested in the unit cost for each activity that you have such a metric for, for your contractors.

MR. KEIZER:  Why don't we take it under advisement?  I think to the extent that one we would have to look at the confidential nature, anyway, with respect to it and we understand that the Board's confidentiality protocols would apply with respect to confidentiality.

I think to determine what we have, first of all, and to the extent that it is in a format that actually makes sense to be able to disclose or actually that is relevant to the proceeding, that's something we would have to look at.

So I think what the bottom line is we'd undertake to have a look at it.  If it's something we can disclose, we would disclose it.  If we otherwise can't, we would say why we couldn't.

MS. HELT:  We will have that noted as Undertaking TCJ1.12.
UNDERTAKING NO. TCJ1.12B:  TO PROVIDE INFORMATION ON CONTRACTOR UNIT COSTS, OR EXPLAIN WHY IT CANNOT BE DISCLOSED.

MR. RUBENSTEIN:  Those are my questions.

MS. HELT:  Thank you, Mr. Rubenstein.

Board Staff, I think, has some questions now.  Ms. Kwan?
Questions by Ms. Kwan:


MS. KWAN:  Yes, I have some questions on Board Staff IR 29.  I don't know that -- okay.  So in the IR response Toronto Hydro explained that -- the difference between retirements and the derecognition of assets, and for the retirement of assets it was indicated that the expected gain on disposition of rolling stocks and properties in 2015 has been deferred on the balance sheet.

Looking at appendix 2BA, the fixed asset continuity schedule, in 2015 the net book value removal from the retirement column is about 13.3 million.  So I just want to know what's the corresponding gain amount.


MS. ROUSE:  I think that would be something better suited to panel 4.

MS. KWAN:  Okay.  For my other questions they're relating to the deferral of the gain.  Is that something for this panel as well or is it for panel 4?

MS. ROUSE:  I think panel 4 will address all of the DVA accounts.

MS. KWAN:  Okay.  How about the -- I have some questions on the derecognition loss that was forecasted.  So are those questions for panel 4 as well?

MS. ROUSE:  That would be relevant for this panel, I believe.

MS. KWAN:  Okay.  So in Exhibit 4B, tab 1, schedule 2, table I, for the derecognition losses, they're relatively consistent.  They range from 25.7 million to 33.9 million, and these losses are for like assets that were not considered specifically identifiable when Toronto Hydro was under U.S. GAAP.

So in transition to IFRS I would assume that Toronto Hydro would have to identify the derecognition losses that it did not capture in the past but would now be required to do so under IFRS.

So from that perspective I would have expected the derecognition losses be greater in the transition year and then ease off later on, but from this table I the losses are actually pretty consistent.  So I was just wondering why that would be the case.

MS. ROUSE:  Just to clarify, the entire population in all years, 2014 to '19, the derecognition loss that you see there is representative of the like assets based on the APH definition.

MS. KWAN:  Yes, so my question is, because 20 -- you're transitioning to IFRS, so you would have to go and look at all your assets on your books and identify whatever losses that you did not previously identify, so I would have expected in 2014 or 2015 the losses to be greater, and then later on for 2016 to 2019 it would just be the loss amount for that year.

MS. ROUSE:  I think there might be a misunderstanding of what we mean by like assets, so this is representative of the entire DSP capital program, so any asset removals that come out of that are factored in the derecognition loss presented in that reference.  What we consider to be retirements represents the property and rolling stock.  Every other asset's considered through the like asset definition.

MS. KWAN:  So you're saying like assets are in the retirements as well, as well as the derecognition losses?

MS. ROUSE:  No, I'm saying retirements represent the properties and rolling stock.  Like assets represent all of the other assets within the distribution system capital plan that would have asset removals.

MS. KWAN:  Yes, so the derecognition losses, they were previously never identified, before but I think starting in 2014 it's a new item that's been identified as a requirement of IFRS; is that correct?

MS. ROUSE:  Agreed, and what you're seeing in the reference of Exhibit 4B, table I, schedule 2 is that.  This is our first-time attempt at forecasting the derecognition loss on those assets from 2014 to '19.

MS. KWAN:  Yeah, so my question is on the -- how that forecasting was done.  I guess -- so is it based on specific capital projects, or how is the forecasting done for these numbers?

MS. ROUSE:  So I think we outlined that in the response to issue 9, OEB Staff 92, so in that response we outlined that we look at the asset type, age, and quantity for each DSP program to determine the removal of assets, then we find a reasonable match within our financial records based on the asset type and age and quantity, and that is where we come up with the forecasted loss.

MS. KWAN:  So is that the same for 2015 as well as 2016 to 2019?  Because I think the IR response that you're referring to is specific to 2015.

MS. ROUSE:  So for 2016 to '19 we use our 2015 derecognition loss as a proxy, so we look at the derecognition loss by program and use that as a projection on a percentage basis of the capital program spending for 2016 to '19.

MS. KWAN:  Okay.  So it's a combination of the 2015 as well as specific capital programs that you're expecting for '16 to '19?

MS. ROUSE:  So 2015, where we have more specific asset details, what would be removed within each of those programs, we use that information to come up with our reasonable forecast.  For '16 to '19, in the absence of having those specific asset removal details, we've used 2015 as a proxy, as a percentage of loss divided by the cap ex in that program.

MS. KWAN:  Okay.  So I'll go back to my original question for 2015 then, because this is the first year that you're doing this.  I would assume that there were losses that were previously -- like, if you had been under IFRS in previous years from 2010 to 2014, you would have identified these losses, but because you were under U.S. GAAP you did not identify these losses, so now that you're transitioning you're doing kind of like a catch-up to identify all the losses at this point in time?  Is that -- does that make sense?

MS. ROUSE:  No, our derecognition loss is based off of the forecasted removals in the year that we are -- sorry, from the date of transition, January 1st, 2014 onwards, so it's only looking at asset removals from January 1st, 2014 and onwards to 2019.

MS. KWAN:  Okay.  I think that's my questions.

MS. HELT:  Thank you, Ms. Kwan.

Mr. Zwarenstein?
Questions by Mr. Zwarenstein:

MR. ZWARENSTEIN:  Hello.  My first one is about OEB Staff 34, on page 3, and I'm hoping this one will be the magic to me understanding everything about this whole application, on page 3.

In the second (ii) on line 8 there's a word missing after "asset".  If you can just fill that in for me, I would appreciate that.  "Asset health and increased asset" something.

MR. KEIZER:  I think rather than us trying to do that on the stand, maybe we can undertake to clarify that.

MR. ZWARENSTEIN:  Thank you.

So you've indicated that --


MS. HELT:  Just a minute, Mr. Zwarenstein, sorry, we'll just note that as Undertaking TCJ1.13.
UNDERTAKING NO. TCJ1.13:  RE:  OEB STAFF 34, ON PAGE 3, IN THE SECOND (II) ON LINE 8, TO PROVIDE THE WORD MISSING AFTER "ASSET".

MR. ZWARENSTEIN:  So you've indicated that some OM&A will remain, some will increase, and some will go down, and you identify that the reductions achieved would be due mainly to corrective maintenance where new equipment replaces older equipment.

So I'm not hopeful, but perhaps there's a different response now.  I understand there are a number of programs where new equipment has been installed or where equipment was to be removed, and I'm wondering if you can give us a better idea what the Board can expect in reduced OM&A.

Now, the answers I heard earlier suggest that you may not be able to do that at all on an individual program basis.  Is that still true?

MR. WALKER:  Yes, I think that at least for the period of the CIR application, given the preponderance of assets past end of life, we don't foresee any material improvement in those numbers.  We don't forecast out improvements beyond the five-year period.

As we mentioned before, for corrective maintenance we look at historical trending, and as our assets become more within their normal useful life, we'll see the improvement in those trends.

MR. ZWARENSTEIN:  Thank you.  2 OEB Staff 35, I'm -- starting at line 12, you're responding to my question about the data.

And I'm not understanding why it is that a sample size of 32 percent of a population in which you've got 60 percent of the data -- does that not mean that you actually have 60 percent times 32 percent of the data points?  Therefore 19 of the total population?

MR. PARADIS:  I think the answer states that it -- in the calculation of health indices, the 60 percent represents a rule below which we will not include assets in the sample size, but it wouldn't be accurate to say that 19 -- let me just -- that for the 32 percent that is in the sample size, only 60 percent of the data is available.

MR. ZWARENSTEIN:  Right.  All the sample items will have 60 percent of the data?

MR. PARADIS:  At least.

MR. ZWARENSTEIN:  At least?  So if that constitutes 32 percent of the population, am I correct in saying that data will represent 19 percent of the total population?

That is, 60 percent times the 32 percent for which you have 60 percent of the data?

MR. PARADIS:  It will represent 19.2 percent of the data points that would be required to calculate health indices for 100 percent of the assets, yes.

MR. ZWARENSTEIN:  Thank you.  In part (c) of that same interrogatory, is it correct that periodic maintenance is done on a regular cycle and that it would not occur more frequently?  That is, it wouldn't be sped up as the equipment gets older?

I was going to ask that question, but I thought this morning we heard that transformers might, in fact, draw more maintenance towards the end of their life.  So I'm a little...

MR. PARADIS:  Could you please restate your question?

MR. ZWARENSTEIN:  Okay.  My question relates to part (c).  You've indicated on page 4 of the question that inspection data is generally collected during periodic maintenance activities.

So my question was:  Are those completely regular, or would they change for an asset that is approaching end of life?

MR. PARADIS:  This might be a question better suited for one of the panels that will follow.  And I believe that is panel 3.

MR. KEIZER:  Panel 3, yes.

MR. ZWARENSTEIN:  Okay.  Thank you.

The next one is OEB Staff 36.  And that -- you talk in -– I'm just trying to locate where in that question you talk of over-engineering.

So you said in regard to the decline in over-engineering, with the implication that designs are now made for the low end of the useful life range of 32 years.

MR. KEIZER:  Sorry, where exactly are you in the IR?

MR. ZWARENSTEIN:  It's in 36, and I'll locate where you said it's kind of commonly accepted.

Yes, on page 4 of 4, line 7:

"This decision was made based on a commonly held industry perception that due to a persistent incentive for suppliers to minimize cost, a newly designed and manufactured power transformer is not as robust and over-engineered as units built in the past."

So for that reason you didn't use the 32-year life which Kinectrics suggested, in their range of 32 to 50, I think it was.  So -- instead, you used the average, the midpoint one.  And that came to the 42 and a half.

Am I right that whereas you're using the midpoint for useful end of life, for depreciation you're using the low end of 32 years?  Is that correct?

That's stated, in fact, on line 6, right?

MR. SIMPSON:  Yes.  Just to clarify, the new units going in are utilizing a lower life for the reasons stated.  The existing units felt to be more robust and have a higher life.

MR. ZWARENSTEIN:  How did you fall, if I may ask, on the midpoint as opposed to perhaps a midpoint plus a standard deviation?

MR. WALKER:  Based largely on engineering judgment.

MR. ZWARENSTEIN:  So that engineering judgment -- which I appreciate much; I'm an engineer -- that in fact -- you found that if we used, for example, 50 years rather than the 45, the number of units that would be beyond useful life would drop, in fact, from 51 percent to 36 percent.  So it's a huge difference; am I right in that?

I'm just reflecting what you've said here.

MR. SIMPSON:  Yeah, your perspective is correct if you change the assumption for the life.

MR. ZWARENSTEIN:  Right.  Now, I just am not totally clear -- and I think it's reflected in many of the questions today -- this difference between economic end of life and useful end of life.

And am I correct in assuming that that, the useful end of life will have no effect on the economic end of life point?  Is that true?  That is, the basis on which you're making projections of capital requirements is economic end of life?

[Witness panel confers]

MR. PARADIS:  I believe there was an undertaking this morning that addressed a similar question.

MR. KEIZER:  Maybe what we can do is rather than trying to go back and graft it into the undertaking, is if we can just make sure it's clear on the record exactly what the question was.

MR. ZWARENSTEIN:  Could we just review if that incorporates it?

MS. HELT:  I'm looking back at the various undertakings provided.

MR. KEIZER:  I think it's Undertaking -- Undertaking No. 2.

MS. HELT:  Toronto Hydro to provide written response to -- no, that is the -- to provide response to the technical conference questions provided by Energy Probe.

MR. KEIZER:  Sorry, we're just going by our notes.  It was the one relating to depreciation.

MS. HELT:  If you can perhaps just give the undertaking -- put the question on the record, Edik, and then we will go back and see if it's incorporated, and if not, we will incorporate it into the --


MR. KEIZER:  Yeah, I mean, to the extent that they're duplicative then --


MS. HELT:  That is correct.  Yes.

MR. ZWARENSTEIN:  So the question is essentially, does the useful end of life play any part in determining the economic end of life or the requirement for assets to get to a stable state of asset replacement?

MS. HELT:  And for the record we'll just note that as a new undertaking, and if it's duplicative then we can just note that.  TCJ1.14.

MR. PARADIS:  I think that's something we can actually answer directly.

MS. HELT:  Oh, well, then we don't need the undertaking.  All right.

MR. PARADIS:  So the useful life will have an impact on the economic end of life, in that the probability of failure is a function of the expected life of the asset, and the economic life incorporates an element of risk.  So it would be factored in, yes.

MR. ZWARENSTEIN:  But is it then a determinant?  Because if you were to vary it between 45 and 50 years in the case of power transformers, that would make an enormous change in the ultimate capital requirements for replacement of assets to get to a stable replacement regime.

So is it actually a determinant in the determination of those capital requirements?

MR. KEIZER:  I think it may be best to take this as an undertaking to make sure that there's clarity with respect to the answer to your question.

MR. ZWARENSTEIN:  Thank you.

MS. HELT:  All right.  So that will then remain as Undertaking TCJ1.14.  Thank you.

MR. KEIZER:  Thank you. 
UNDERTAKING NO. TCJ1.14:  TO ADVISE WHETHER the useful end of life playS any part in determining the economic end of life, or the requirement for assets to get to a stable state of asset replacement 

MR. ZWARENSTEIN:  And then as an engineer I'm more familiar when you look at that lifetime in the original presentation you have the upward-going curve with the risk to failure.  I'm more familiar with the bathtub curve, of course, and not that curve.

So my question relates to the economic end of life number of years, because that is key, clearly, in the amount of capital that is required while it determines the point at which you determine that the asset class has to be replaced.  So it's very sensitive to that curve, of course.

And I wonder if you can provide me some information on the possible variability of that number.  We haven't seen or haven't been able to grasp data on the difference or on the sensitivity of that number to variables.

So what are the variables involved in the determination of the economic end of life time?  Because similar to the earlier useful end of life there are going to be some sensitivities in that data.

MR. OTAL:  So to better answer this question I would point to Exhibit 2B, section D3, on page 8, and I'm looking at figure 3.  And so that's showing the process in terms of how we're calculating that economic end of life value.  Starting with the new asset, we're annualizing its capital cost.  We have the annualized risk cost of that new asset and the sum total of those two components that's giving us the total operating cost or life-cycle cost of that new asset, and we're looking at the minimum point on that life-cycle cost curve, and we have to cross-reference that to the existing asset that is then leaving the system, and we have to respect the fact that the new asset that's going in, the existing asset that's being replaced, they may have different probabilities, and so therefore different risk cost curves.  That's why the existing asset's risk cost curve is steeper, and when we do that cross-referencing to the existing asset's risk cost curve.  That's how we're capturing the optimal intervention time, or, as we call it, economic end of life of the existing asset.

So as you can see, there are a number of variables and inputs that are going into determining that economic end of life for each individual asset.  It's going to be -- the inputs would include the failure probability, how that asset is connected in the system, because that's going to determine the impact of failure, and the subsequent risk costs, as well as the capital cost of the new asset that's going in, because that's annualized.

MR. ZWARENSTEIN:  And is there a source where I might investigate or where you might have provided some indication of the variability of the shape of these curves or the source of these curves so that we can investigate them?  Because it might have a similar variability, as might the useful end of life.

MR. OTAL:  To answer that question, we don't show any sort of variability or sensitivity to the economic end of life result, but I would say on a more broader basis, our a.m. planning process, because it is a multi-faceted approach, it's using a number of different decision support systems to arrive at our final decision-making accounts for those sensitivities and those variabilities when we're making the final investment decisions in our distribution system.

MR. ZWARENSTEIN:  Would it be possible to get a precise curve for a particular asset so that we can understand that, the orange and the red graph for a particular asset, say power transformer, so that we can understand exactly how that appears?

MR. OTAL:  Sure, we could provide a specific calculation for a specific power transformer asset.

MR. ZWARENSTEIN:  That would be great, thank you.

MS. HELT:  That'll be Undertaking TCJ1.15.
UNDERTAKING NO. TCJ1.15:  TO PROVIDE A SPECIFIC CALCULATION FOR A SPECIFIC POWER TRANSFORMER ASSET.

MR. ZWARENSTEIN:  So my next question relates to OEB Staff 37.  And it's indicated that nine of the planned 21 KSO breakers were planned for replacement for 2014, and only nine were done as a result of the capital program cuts.  So I'm just wanting to understand what particular resource was constrained.  Would that be that contractors were set aside due to the accounts, or was it disallowance of certain amounts?  It's mentioned that it's resource constraints. 

MR. SIMPSON:  The constraint or the DST resources for that work.  And there could also be coordination issues with Hydro One, depending on the nature of the configuration there.

MR. ZWARENSTEIN:  My next one relates to OEB Staff 39, and I think you presumed you were looking for more than we actually were.  I was not looking in this one for a complete accounting of the -- all the programs.  I was looking to see if the particular programs, to what extent the material objectives of the particular programs was achieved.

So for example, for the KSO oil breakers, we know that nine of 21 which had been planned were completed.  And for the specific assets, as opposed to what you've described as the geographical assets, can we provide more of that kind of information for the other programs?

MR. PARADIS:  The reason why we provided the answer in the manner we did is that for certain programs, it's much more complicated to define objectives and report against those objectives, where assets in the program you identified are very discrete and therefore progress against discrete asset replacements is an obvious way of reporting progress for the program.

For a large number of our other programs, that directly available metric does not exist.  So what we tried to do is give a response that included expenditure levels as a proxy for progress against the objectives.

MR. ZWARENSTEIN:  So I wonder, then -- it seems to me there are a few others that are quite specific like that, such as, for example, the SMD 20 switches.

That should be an item you can count.  You would have targeted them.  It shouldn't be that complicated to indicate which of them have been replaced.

And the same for fibre-top network units.  It seems that's as specific as KSO breakers.  They were targeted; the end result should be that a certain number of them are replaced or not replaced.

Am I wrong?

MR. KEIZER:  Can I get a sense of what you're asking?  You're asking to take that particular program, and do?

MR. ZWARENSTEIN:  To indicate the degree to which the physical -- the material objectives of the program, which were stated at the time that Toronto Hydro sought the funding, to determine what -- to what degree the material objectives have been completed.  Wherever we can.

MR. KEIZER:  In other words, if we said we were going to put in ten switches, did we put in ten switches? 

MR. ZWARENSTEIN:  Did you put in ten switches?  Simple as that, yeah.

And there may be reasons why you didn't, of course.  And I understand that would occur later, but... 

MR. KEIZER:  I guess to the extent that that occurs later, I'm not sure what the validity of knowing the number of switches today establishes, without knowing all of the details underlying -- well, because we had certain systems considerations or certain other restrictions that impacted the ability to put certain switches on, you know, I don't think it would be fair to evaluate the objectives without having that.

And then the issue is going back and dissecting each of those programs, which is significant at this time in advance of when we would be doing it as part of the typical true-up.

I guess that's what I'm struggling with that aspect.

MR. ZWARENSTEIN:  Well, I thought it was a fairly straightforward question, that we should be able to answer how many of them have been replaced or not.

But if that's not the case, then so be it. 

MR. KEIZER:  I'm not saying -- I guess my point is the raw number of how many has been replaced, I'm not sure really provides anything without understanding the aspects of why.

MR. ZWARENSTEIN:  Well, I think if -- my reason for asking it is that it would be an indication of the capability to complete the program without confusion, or without additional complications arising.

That is to say it will give some degree of comfort to those people providing the funding or allowing funding or approving funding for a particular program to know the extent to which it will be completed.  I think that's a reasonable thing to ask. 

MR. KEIZER:  And that's exactly the opposite reason why I think providing the bald number doesn't necessarily identify elements of confusion or otherwise.

It may be that there are other systematic issues that may arise because of the distribution system or the conditions experienced at the time, or other things that may have affected the number.

So to do a variance consideration based on number of units to be inserted or installed versus what was installed, I'm not sure that just that bald number -- depending on whether it's over or under -- points to a conclusion as to confusion.  I think it's a significant exercise.

MS. HELT:  To summarize, then, I think we have the question on the record.  We have the refusal to provide an answer to that question on the basis that Mr. Keizer has stipulated; that is also on the record.

And I think we can then move on to the next question, Mr. Zwarenstein.

MR. ZWARENSTEIN:  Thank you.  The next question relates to OEB Staff 40.  At lines 14 to 19 on page 2, I guess you've indicated that there is a correction.  Right?  Yeah, there's a correction.

So do I understand correctly that the new information presented in the table above is the correct answer and that a majority is overhead?  Is that -- have I got it right? 

MR. PARADIS:  That's correct.

MR. ZWARENSTEIN:  Thank you.  And then 41 related to the box construction.  So this was identified as a safety issue and full funding was granted in EB-2012-0064.

And I would ask if you might say why the work did not get done to complete the removal of these.  And given that it was proclaimed as a safety issue, why would it not have been done?  And does the safety hazard exist? 

MR. PARADIS:  So for the safety hazard consideration, Toronto Hydro, as discussed in the ICM proceeding, has developed workaround measures.  So in cases where the box construction remains, the inherent safety challenges do still exist.

As for the completion of the work, there's a dependency in completing voltage conversions to some work being carried out by Hydro One at the station level.  In certain specific cases, it involves transformer replacements, and when the schedules for those replacements are modified, that has a direct impact on our ability to carry out our work.

So in some instances, we were not able to carry out the work in the timeline expected, because of challenges with coordination of Hydro One timing.

MR. ZWARENSTEIN:  Sorry, how does Hydro One fit into this?   We're talking low-voltage lines, aren't we?  I mean, below 50 kV? 

MR. SIMPSON:  Coordination comes into play in removing the flexibility we may have to change our loading arrangements, and so those low-voltage assets can be affected depending on the upstream work.  Limits our degree of flexibility, our freedom of movement.

MR. ZWARENSTEIN:  Okay.  So has it remained then in place, but you say you've got to work around it?

MR. PARADIS:  Pending replacement of the box construction, the inherent hazard associated with that construction would remain, yes.

MR. ZWARENSTEIN:  Okay.  Thank you.

Interrogatory Staff 50, five-zero, part (c), we're talking here of two transformers.  Are they a part of a single transformer station?  There are -- no, let me just get -- sorry, it's on page 2 of 2.  We have two 125 MVA transformers, and I'm asking, are these part of a single transformer station?

MR. SIMPSON:  Those are Kavanaugh, yes, single station.

MR. ZWARENSTEIN:  Single station.  Okay.  Okay.

My next one relates to IR 56, which is the feeder automation program.  And so in a number of cases it's indicated that many of the projects were not commissioned for automation.  I'm looking at page 2.  Because it was denied funding, many of the projects were not commissioned for automation and are not online as a fully automated system.

Do I understand that it's all prepared and ready to go when the funding comes, and will those then go in-service in 2015?

MR. PARADIS:  Yes, the intent would be to complete automation of those sections in 2015.

MR. ZWARENSTEIN:  Thank you.  My next one relates to Interrogatory 57 and the N minus one design.  In the -- at the bottom of the page you talk of:

"For planning purposes Toronto Hydro considers a bus to be overloaded when it reaches 95 percent of the rated capacity."

That specifically applies to the Toronto area.  What would be the similar number for the Horseshoe area then?

MR. SIMPSON:  The downtown 13.8 KV stations have that 95 percent rating.  And the Horseshoe 27.6 KV stations have a 100 percent rating.

MR. ZWARENSTEIN:  Thank you.  And part (b)3 is:

"All elements in service of auto failure may still result in a brief outage of N minus 1 ensures that an alternate supply is readily available."

Does this imply that that could also be a manually implemented one, or does this mean an automatic or remote-controlled closure of the alternative supply?

MR. SIMPSON:  The N minus one criteria is indifferent to whether it was manual or automatic switching.  It's just, a natural outcome of that would be the restoration time.

MR. ZWARENSTEIN:  Okay.  Thank you.

And in B4, in line 17, you say:

"At the station level inter-station ties would generally not be taken into account unless the inter-station tie was sufficiently sized to carry the entire station load and station peak loading was kept to below 55 percent, assuming a time."

And these conditions are not true for any stations in Toronto Hydro service territory.  Does that mean that even dual transformer situations are not able to be used as an N minus one?

MR. SIMPSON:  This response is referring to inter-station ties, and so having the dual transformer you described is likely at the single station.  Is that helpful?

MR. ZWARENSTEIN:  Okay.  Yes, thank you.  And the last one is 59, and that's a general planned issue, but I don't know.  It's a fairly simple question.  In response (d), it's mentioned that Toronto Hydro targets include being above 95 percent for preventative maintenance task.

And does that mean that those tasks must be completed within 30 days?  I don't know if this panel can answer it.  Seems like a fairly straightforward question.

MR. PARADIS:  I think that's better addressed to panel 2 -- 3, sorry.

MR. ZWARENSTEIN:  Okay.  Thank you.  Those are my questions.

Oh, sorry, just a clarification.

MR. RICHMOND:  Could I just clarify with Mr. Simpson, I mean, my recollection -- for the N minus one situation, my recollection is for the downtown stations, of course, the secondary bus is tied through, so if you lose one unit there is no interruption, but in the Horseshoe area I think the bus is open in many places, so then if you lose a unit then you lose the half of the load.

Is that what you're driving at, that then there would reasonably be some switching, and -- is that the case, Jack?  My recollection is it is.

MR. SIMPSON:  We have variations across the Horseshoe that may have been made to improve the short-circuit performance, so there are some variations there to consider.  You're generally correct.

MR. RICHMOND:  Okay.  Thank you.

MR. ZWARENSTEIN:  That's my questions.  Thanks.

MS. HELT:  Thank you.  I think that concludes Board Staff's questions.

Mr. Rubenstein, you have a follow-up?
Continued Questions by Mr. Rubenstein:


MR. RUBENSTEIN:  I just had a question, and I only ask because Staff asked questions about derecognition of assets, and I sort of assumed that was for panel 4.  And I don't know if I should ask this question for this panel or wait.

MR. KEIZER:  I think the questions related to the derecognition that was sent to panel 4 related to deferral and variance account.

MR. RUBENSTEIN:  I just ask because it's --


MR. RICHMOND:  And I think the questions that this panel answered related to the forecast of derecognition.

MR. RUBENSTEIN:  Can I ask -- okay.  I thought that was for panel 4.  So I just have a couple questions.

MS. HELT:  I don't have an objection if it's appropriate for this panel.

MR. KEIZER:  If it fits within the context of this panel, yes.

MR. RUBENSTEIN:  Would I be correct to conclude that there is expected to be a material derecognition expense in every year in the future, so that it becomes a permanent incremental cost?

MS. ROUSE:  So if you refer to Exhibit 4B, tab 1, schedule 2, table 1, that shows you our forecasted derecognition loss for 2014 to 2019.

MR. RUBENSTEIN:  Sorry, can that be put up on the screen?

And is the sort of increase in –- sorry, let me put it this way.  Is the forecast in 2015 consistent with the way that you've done in the forecast through to 2019?  Or is there sort of a bump in the first year, based on some sort of catch-up? 

MS. ROUSE:  As previously mentioned, the 2014 forecast is based off of the transition date of January 1, 2014.  So it's for all derecognition for that year, asset removals in that year.

MR. RUBENSTEIN:  Would I be correct to understand that over time, the effect of the derecognition expense is zero, because as the assets are derecognized they're no longer in depreciation and that would lower future depreciation?

MR. PARADIS:  Would you mind restating your question, please?

MR. RUBENSTEIN:  Sure.  Would I be correct that over time, the effect of the derecognition expense will end up being zero, because you're removing -- you're not depreciating that asset, so you're lowering future depreciation expenses?

So let's take an example for 2015.  There's a derecognition expense of 33.9 million.  With respect to those assets specifically that are correlated to that, depreciation expenses in the future will equal $33.9 million?  There will be lowering of depreciation in the future of that amount, because essentially you're pulling it out?

MR. PARADIS:  Yes. 

MR. RUBENSTEIN:  All right.  Those are my questions.  Thank you. 

MS. HELT:  Thank you.

Are there any further questions for this witness panel?  All right, then.

There was one question, Mr. Keizer, that was raised earlier this morning that you said you were going to take away over the lunch break.  And I believe it was with respect to a question posed by Mr. Garner, which was a follow-up to Mr. Quesnelle.

MR. KEIZER:  I would think we would have to do that by way of undertaking.  We didn't get to it over the lunch hour.

MS. HELT:  Mr. Garner, I hate to call on you, spring this on you, but can you articulate what that was specifically with respect to following up on Mr. Quesnelle's question?

MR. GARNER:  It's been a long day.  I'll try.  I believe it had to do with the same subject matter that Mr. Zwarenstein was speaking to, and this was the difference between the economic and the engineering values.  But the way I had understood Mr. Quesnelle to say it this morning was he was asking you to -- and I was asking you to provide an explanation for the difference between the depreciation values under IFRS and the -- what was being proposed in the capital programs for those same assets.

So it appeared that what Toronto Hydro was doing -- and it may be incorrect to say this, but was doing -– was, in fact, taking assets and replacing them in advance of when they would be fully depreciated, and that was an outcome of its DSP.  That's what I think appears to be the case.  So we were, I think, both wondering:  Is that the case, and if so, why?

That's a long way to -- I'm sorry I don't have a shorter way at this end of the day to put it, but I think that there has been a general gist to the same issue in a number of questions today. 

MR. KEIZER:  I may end looking at the undertakings and combining the answer to some extent. 

MS. HELT:  Certainly.  That's fine.  Just for the record, we'll mark that as TCJ1.16.  And that will perhaps combine with the undertaking given previously at TCJ1.14. 
UNDERTAKING NO. TCJ1.16:  TO EXPLAIN THE DIFFERENCE BETWEEN THE DEPRECIATION VALUES UNDER IFRS AND WHAT WAS BEING PROPOSED IN THE CAPITAL PROGRAMS FOR THE SAME ASSETS.

MR. GARNER:  If it's of any help, Ms. Helt, the only thing I would ask is if the utility would look at Mr. Quesnelle's question, which I think really went to -- and I think he articulated it best -- went to the issue. 

MR. KEIZER:  Yes, we'll have a look at that. 

MS. HELT:  Thank you.

That concludes witness panel 1.  It is now 20 after 5:00.  I don't think it's worth trying to cram in ten minutes on witness panel 2, by the time panels get switched up.  We are set to commence at 9:00 o'clock tomorrow.

I am going to be circulating or Martin's going to be circulating an e-mail, asking everyone to give time estimates for the remaining panels, so we can try and organize the questions as efficiently as possible.  I know there aren't as many questions for panels 2 and 3, but there are quite a few questions for panel 4.  If people can check their e-mails tonight and reply to Staff either tonight or tomorrow morning with their time estimates, so we can put together some sort of plan for the day.

Thank you very much.  That concludes today.
--- Whereupon the conference adjourned at 5:17 p.m.
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